
CHEMISTRY

BOOKS - BRILLIANT PUBLICATION

HYDROGEN

Level I Homework

1. Hydrogen is (1) Electropositive
 (2) Electronegative
 (3) Neither

electropositive nor electronegative
 (4) Both electro positive as well as

electronegative

A. Electropositive

B. Electronegative

C. Neither electropositive nor electronegative

D. Both electro positive as well as electronegative

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vnwk4Lh7AKtI


Answer:

Watch Video Solution

2. The oxidation states exhibited by hydrogen in its various compounds

are

A.  only

B. 

C.  and zero

D.  only

Answer:

Watch Video Solution

−1

+2

+1, − 1

+1

3. Reaction between following pairs will produce hydrogen except

https://dl.doubtnut.com/l/_vnwk4Lh7AKtI
https://dl.doubtnut.com/l/_djRMJxOuRVX3
https://dl.doubtnut.com/l/_Jw5RvroR9HBw


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Cu + HCl

Fe + H2O(g)

Mg + H2O(hot)

Na + alcohol

4.  is an example of which of the following type of hydrides
(1) Ionic

(2) Interstitial
(3) Metallic
(4) Covalent

A. ionic

B. interstitial

C. metallic

D. covalent

Answer:

SiH4

https://dl.doubtnut.com/l/_Jw5RvroR9HBw
https://dl.doubtnut.com/l/_KR4YZo24SGzX


Watch Video Solution

5. Hydrogen accept an electron to form inert gas configuration. In this, it

resembles

A. Halogen

B. Alkali metals

C. Chalcogens

D. Alkaline earth metals

Answer:

Watch Video Solution

6. Which of the following statements is correct?

A. Hydrogen has same ionisation potential as alkali metals

B.  has same electronegativity as halogensH −

https://dl.doubtnut.com/l/_KR4YZo24SGzX
https://dl.doubtnut.com/l/_360o9Doqu6ej
https://dl.doubtnut.com/l/_yH4PzrnbFTk1


C.  has oxidation number of -1

D.  will not be liberated at anode

Answer:

Watch Video Solution

H −

H2

7. In Bosch's process, which gas is utilised for the production of

hydrogen?

A. Producer gas

B. Water gas

C. Coal gas

D. Natural gas

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yH4PzrnbFTk1
https://dl.doubtnut.com/l/_KAipBqgOxLKg
https://dl.doubtnut.com/l/_Ts4qkustx2ZM


8. Dihydrogen in  has

A. Two isotopes and no isomers

B. Three isotopes and two nuclear isomers

C. Three isotopes and two optical isomers

D. Two isotopes and two geometrical isomers

Answer:

Watch Video Solution

H2

9. Ionic hydrides react with water to give

A. Hydride ions

B. Acidic solution

C. Protons

D. Basic solution

https://dl.doubtnut.com/l/_Ts4qkustx2ZM
https://dl.doubtnut.com/l/_fslPvuxTNQhj


Answer:

Watch Video Solution

10. Hydrogen burns in air with a

A. Light bluish flame

B. Yellow flame

C. Green flame

D. None of these

Answer:

Watch Video Solution

11. Hard water contains ions of

A. Heavy water

https://dl.doubtnut.com/l/_fslPvuxTNQhj
https://dl.doubtnut.com/l/_W6R2bsoBTkqd
https://dl.doubtnut.com/l/_sSgvsBnY7P27


B. Soft water

C. Hard water

D. Conductivity water

Answer:

Watch Video Solution

12. Temporary hardness of water is due to the presence of

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

MgSO4

Mg(HCO3)2

CaCl2

CaCO3

https://dl.doubtnut.com/l/_sSgvsBnY7P27
https://dl.doubtnut.com/l/_P0cktZ0oPf1S
https://dl.doubtnut.com/l/_PM85cgz83i4F


13. Which of the following will cause softening of hard water?

A. Passing it through anion exchange resin

B. Passing it through sand

C. Passing it through cation exchange resin

D. Passing it through alumina

Answer:

Watch Video Solution

14. Select the correct statement for heavy water

A. it is less denser than common water

B. it is an oxide of deuterium

C. it is heavy or bad taste

D. it has a heavier isotope of oxygen

https://dl.doubtnut.com/l/_PM85cgz83i4F
https://dl.doubtnut.com/l/_SdBWS1iL71hs


Answer:

Watch Video Solution

15. Fluorine react with water to form

A. Fluorine water

B. Oxygen

C. Ozone

D. Oxygen, ozone

Answer:

Watch Video Solution

16. Water has maximum density at

A. 100∘C

https://dl.doubtnut.com/l/_SdBWS1iL71hs
https://dl.doubtnut.com/l/_Nv0bsrWIIJ33
https://dl.doubtnut.com/l/_ugsnyrEdG6hP


B. 

C. 

D. 

Answer:

Watch Video Solution

25∘C

4∘C

0∘C

17. The hydride ion  is a stronger base than hydroxide ion, which of

the following reactions will occur sodium hydride (NaH) is dissolved in

water?

A. 

B. 

C. 

D. None of these

Answer:

H −

H − (aq) + H2O(l) → H3O
+ (aq)

H − (aq) + H2O(l) → OH − (aq) + H2(g)

H − (aq) + H2O(l) → no reaction

https://dl.doubtnut.com/l/_ugsnyrEdG6hP
https://dl.doubtnut.com/l/_nioqdEzX2LaV


Watch Video Solution

18. What is formed when calcium carbide react with heavy water

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

C2D2

CaD2

Ca2D2O

CD2

19. Deuterium was discovered by

A. Urey

B. Aston

C. Rutherford

https://dl.doubtnut.com/l/_nioqdEzX2LaV
https://dl.doubtnut.com/l/_MNmMm65NfEoR
https://dl.doubtnut.com/l/_KrcV2B2I2RVk


D. Chadwick

Answer:

Watch Video Solution

20. Amongst  and , the one with the highest

boiling point is:  because of hydrogen bonding,  because of

higher molecular weight,  because of hydrogen bonding, 

because of lower molecular weight.

A.  because of hydrogen bonding

B.  because of higher molecular weight

C.  because of hydrogen bonding

D.  because of lower molecular weight

Answer:

Watch Video Solution

H2O, H2S, H2Se H2Te

H2O H2Te

H2S H2Se

H2O

H2Te

H2S

H2Se

https://dl.doubtnut.com/l/_KrcV2B2I2RVk
https://dl.doubtnut.com/l/_RvpkuxMOjBP9


21. An oxide which give  on treatment with dilute acid is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H2O2

PbO2

Na2O2

MnO2

TiO2

22. The maximum number of hydrogen bonds formed by a water molecule

in ice is

A. 4

B. 3

C. 2

D. 1

https://dl.doubtnut.com/l/_ISQsoHxMA3r8
https://dl.doubtnut.com/l/_POYE9FlBNUOQ


Answer:

Watch Video Solution

23. Bleaching action of  is due to it's

A. Oxidising nature

B. Reducing nature

C. Acidic nature

D. Thermal insteability

Answer:

Watch Video Solution

H2O2

24. A dilute solution of  is labelled as 20 volume. It's percentage

strength is

H2O2

https://dl.doubtnut.com/l/_POYE9FlBNUOQ
https://dl.doubtnut.com/l/_uxpZ836zGI82
https://dl.doubtnut.com/l/_JgBruLpxwvml


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

10 %

6.06 %

30 %

3 %

25. Polyphosphates are used as water softening agents because they

A. Form soluble complexes with anionic species

B. Precipitate anionic species

C. Form soluble complexes with cationic species

D. Precipitate cationic species

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JgBruLpxwvml
https://dl.doubtnut.com/l/_6d5bUo7qJD7o


26. A mixture of hydrazine and  is used as

A. Antiseptic

B. rocket fuel

C. Antidepressant

D. insecticide

Answer:

Watch Video Solution

H2O2

27. Decomposition of  is retarded by

A. Acetanilide

B. 

C. Zn

H2O2

MnO2

https://dl.doubtnut.com/l/_6d5bUo7qJD7o
https://dl.doubtnut.com/l/_FrpdGlbVLIGK
https://dl.doubtnut.com/l/_vRNujzAyvA9b


D. Colloidal Ni

Answer:

Watch Video Solution

28. Pure  is

A. semi solid

B. liquid

C. solid

D. gas

Answer:

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_vRNujzAyvA9b
https://dl.doubtnut.com/l/_vZQml0RmPvhM


29. Barium peroxide reacts with phosphoric acid to produce barium

phosphate along with

A. water

B. hydrogen peroxide

C. dioxygen

D. phosphine

Answer:

Watch Video Solution

30. Which of the following compounds turn white on treatment with

A. 

B. 

C. NiS

H2O2

Ag2S

PbS

https://dl.doubtnut.com/l/_3ps4Wu5pk70c
https://dl.doubtnut.com/l/_79jnCPs4MZjp


Level Ii

D. CuS

Answer:

Watch Video Solution

1. Which is false : Hydrogen act both as oxidiser and reducer,
 Ortho and

para hydrogen are nuclear spin isomers,
  is more rapidly adsorbed on

surface than ,
 Isotopes of hydrogen resemble in physical properties

but differ in chemical properties

A. Hydrogen act both as oxidiser and reducer

B. Ortho and para hydrogen are nuclear spin isomers

C.  is more rapidly adsorbed on surface than 

D. Isotopes of hydrogen resemble in physical properties but differ in

chemical properties

H2

D2

H2 D2

https://dl.doubtnut.com/l/_79jnCPs4MZjp
https://dl.doubtnut.com/l/_Mvs6h9WkIE4j


Answer:

Watch Video Solution

2. In which of the following does hydrogen resembles halogens? 

1) Absence of unshared electron pair 

2) Formation of covalent compounds 

3) Liberation of anode 

4) Electronegative character 

5) Reducing character

A. 1, 2 and 3

B. 2, 3 and 4

C. 1, 2 and 4

D. 1, 2 and 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Mvs6h9WkIE4j
https://dl.doubtnut.com/l/_CgwOSskyBE8M


3. Which of the following is correct order 

1)  (order of BP)  



 (order of

reactivity with chlorine) : 1, 2 and 3,
1, 2, 3 and 4,
1 and 3,
2, 3 and 4

A. 1, 2 and 3

B. 1, 2, 3 and 4

C. 1 and 3

D. 2, 3 and 4

Answer:

Watch Video Solution

T2 > D2 > H2     2) T2 > D2 > H2(order of BE)

3)T2 = D2 = H2(order of BL)          4) T2 < D2 < H2

4. Bosch method for the manufacture of hydrogen involve : electrolysis of

acidulated water,
 passing steam through natural gas,
 Coal gasification

https://dl.doubtnut.com/l/_CgwOSskyBE8M
https://dl.doubtnut.com/l/_aoN1WhX30P9a
https://dl.doubtnut.com/l/_aHFnFwBY23ta


followed by water gas shift of reaction,
 Gassing process followed by

vivifaction

A. electrolysis of acidulated water

B. passing steam through natural gas

C. Coal gasification followed by water gas shift of reaction

D. Gassing process followed by vivifaction

Answer:

Watch Video Solution

5. Which of the following is incorrect? 

1) Hydrogen forms covalent hydrides with most p-block elements 

2) Hydrides of group-13 are electron rich 

3) Metallic hydrides obey law of constant proportions 

4) Metallic hydrides are used in catalytic reduction 

5) Ni, Pt and Pd absorb very low volume hydrogen
(a) 2 and 3
(b) 1,2 and 3

(c) 2,4, and 5
(d) 2,3,and 5

https://dl.doubtnut.com/l/_aHFnFwBY23ta
https://dl.doubtnut.com/l/_r56UvDb9hHfp


A. 2 and 3

B. 1, 2 and 3

C. 2, 4 and 5

D. 2, 3 and 5

Answer:

Watch Video Solution

6. Which is not true about saline hydrides

A. They are binary compounds of hydrogen and metallic elements

B. They are crystalline solids

C. They conduct electricity only in molten and they react with water

state

D. The density of ionic hydrides is lower than those of metals from

which they are formed

https://dl.doubtnut.com/l/_r56UvDb9hHfp
https://dl.doubtnut.com/l/_xTSKIucPrcp5


Answer:

Watch Video Solution

7. An oxide which give  on treatment with dilute acid is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H2O2

PbO2

Na2O2

MnO2

TiO2

8. Hydrolysis of one mole of peroxydisulphuric acid produces

A. Two moles of sulphuric acid

https://dl.doubtnut.com/l/_xTSKIucPrcp5
https://dl.doubtnut.com/l/_q8d0KHDWoLIZ
https://dl.doubtnut.com/l/_aZ2Y8kYyvdpJ


B. Two moles of peroxomonosulphuric acid

C. Two moles of sulphuric acid and one mole of hydrogen peroxide

D. One mole of sulphuric acid, one mole of peroxomonosulphuric acid

and one mole of hydrogen peroxide

Answer:

Watch Video Solution

9. Pure hydrogen is obtained by the action of (1) Pure dilute H2SO4 on

magnesium ribbon.
(2) Electrolysis of warm solution of Ba(OH)2.
(3) Water

on sodium hydride
(4) All the above

A. pure dilute  on magnesium ribbon

B. electrolysis of warm solution of 

C. Water on sodium hydride

D. All the above

H2SO4

Ba(OH)2

https://dl.doubtnut.com/l/_aZ2Y8kYyvdpJ
https://dl.doubtnut.com/l/_FvvHe9OFJ5NP


Answer:

Watch Video Solution

10. Which is incorrect?

A. water contracts on heating from 273 to 277 K

B. petrol fire cannot be extinguished by water

C. water has high dipole moment and dielectric constant

D. water makes intramolecular hydrogen bonding

Answer:

Watch Video Solution

11. Which of the following relates to the chemical behaviours of water? 

1) Stable nature  2) Oxidising and reducing nature 
      

https://dl.doubtnut.com/l/_FvvHe9OFJ5NP
https://dl.doubtnut.com/l/_Rf6loaa4d429
https://dl.doubtnut.com/l/_B034A7OSKwLh


3) Hydrolytic nature 4) Hydrate formation 


5) Acid-base character
(a) 1 and 2
(b) 1 and 5
(c) all these (d) 3 and 5

A. 1 and 2

B. 1 and 5

C. all these

D. 3 and 5

Answer:

Watch Video Solution

    

12. Which of the following is incorrect?

A. Hardness of water depends on it's soap consuming power

B. Permanent hardness is due to chlorides and sulphates of calcium

and magnesium

C. Hardness is determined by disodium salt of EDTA

https://dl.doubtnut.com/l/_B034A7OSKwLh
https://dl.doubtnut.com/l/_zVpnVTGcMFCK


D. Temporary hardness can be removed by washing soda

Answer:

Watch Video Solution

13. Ice melts below  when pressure is applied because : pressure

generates heat,
 chemical bonds breaks under pressure,
 ice is less denser

than water,
 ice is not a true solid

A. pressure generates heat

B. chemical bonds breaks under pressure

C. ice is less denser than water

D. ice is not a true solid

Answer:

Watch Video Solution

0∘C

https://dl.doubtnut.com/l/_zVpnVTGcMFCK
https://dl.doubtnut.com/l/_Cj6RtTBYb0jd
https://dl.doubtnut.com/l/_CVPmIwSOvwMm


14. Heavy water is manufacture by

A. Combination of hydrogen and heavier isotope of oxygen

B. Electrolysis of water containing heavy hydrogen dissolved in it

C. Repeated electrolysis of 3% aqueous solution of NaOH

D. None of the above

Answer:

Watch Video Solution

15. If 10  solution of  on decomposition gives 150  of  at

STP, then volume strength of  is

A. 15

B. 30

C. 20

D. 10

cm3 H2O2 cm3 O2

H2O2

https://dl.doubtnut.com/l/_CVPmIwSOvwMm
https://dl.doubtnut.com/l/_cwjp2pOTAX6K


Answer:

Watch Video Solution

16. Which is not true about heavy water?

A. most of the physical constant values are higher than the

corresponding values of ordinary water

B. rate of chemical reactions are slower than those in ordinary water

C. it is obtained as a byproduct in some fertilizer industries

D. it is obtained by the electrolysis of acidified water

Answer:

Watch Video Solution

17. Deionised water is obtained by passing hard water through

https://dl.doubtnut.com/l/_cwjp2pOTAX6K
https://dl.doubtnut.com/l/_sYUdwINOWo5C
https://dl.doubtnut.com/l/_M9s8qJn1UgB2


A. zeolite

B. cation exchanger

C. anion exchanger

D. both cation and anion exchanger one after the other

Answer:

Watch Video Solution

18. Which of the following is/are the preparation or manufacture of 

1) Mercks's process  2) Thenard's process 


3) Electrolysis of 50% of  Auto-oxidation of 2-alkyl

anthraquinol 

5) Oxidation of isopropyl alcohol

A. 1 and 2

B. 1, 2 and 3

C. 1, 2, 3 and 4

H2O2

      

H2SO4      4) 

https://dl.doubtnut.com/l/_M9s8qJn1UgB2
https://dl.doubtnut.com/l/_TRkiBLLH8Lnk


D. all these

Answer:

Watch Video Solution

19.  act as reducing agent when it reacts with

A. PbS in acidic medium

B.  in basic medium

C.  in basic medium

D.  in basic medium

Answer:

Watch Video Solution

H2O2

FeSO4

MnSO4

KMnO4

20.  is usedH2O2

https://dl.doubtnut.com/l/_TRkiBLLH8Lnk
https://dl.doubtnut.com/l/_G1qNEvLjZEWR
https://dl.doubtnut.com/l/_sXVxOIDLLRkc


A. to bleach delicate materials

B. as an antichlor and in the manufacture of detergents

C. for detecting titanium and chromium salts

D. all the above

Answer:

Watch Video Solution

21. Acidified  solution is decolourised when

A.  is passed through it

B. Zinc is added to it

C. Chlorine is passed through it

D. none of the above

Answer:

Watch Video Solution

KMnO4

H2

https://dl.doubtnut.com/l/_sXVxOIDLLRkc
https://dl.doubtnut.com/l/_37oZS2MCyDHa


22. The volume of  (measured at STP) liberated by 1 mL 1M  is

A. 22.4 ml

B. 11.2 ml

C. 44.8 ml

D. 40 ml

Answer:

Watch Video Solution

O2 H2O2

23. 100  of a sample of  gives 1000  of  at STP. The given

sample is

A. 10 volume 

B. 100 volume 

C. 10% 

cm3 H2O2 cm3 O2

H2O2

H2O2

H2O2

https://dl.doubtnut.com/l/_37oZS2MCyDHa
https://dl.doubtnut.com/l/_KveYw7niBJQC
https://dl.doubtnut.com/l/_GDfG56iIdl2C


D. 2.786 N 

Answer:

Watch Video Solution

H2O2

24. What is the volume of "20 volume of " is required to get 5000 

 of oxygen at STP?

A. 125 

B. 100 

C. 50 

D. 250 

Answer:

Watch Video Solution

H2O2

cm3

cm3

cm3

cm3

cm3

https://dl.doubtnut.com/l/_GDfG56iIdl2C
https://dl.doubtnut.com/l/_v6X9gGszTP40


25. Find the true statement

A. when  solution is poured into a skin wound to clean it, it

bubbles furiosly

B. carbon forms more compounds than hydrogen

C. nascent hydrogen cannot decolorise  solution

D. Smell of  differ

Answer:

Watch Video Solution

H2O2

KMnO4

HNO2 and H2O2

26. Hydrogen peroxide (or any true peroxide) can be identified by

A. Chromyl chloride test

B. Baeyer's test

C. Silver mirror test

https://dl.doubtnut.com/l/_7sXeWngmyiXs
https://dl.doubtnut.com/l/_eCPAOfVD4SPj


D. Perchromic acid test

Answer:

Watch Video Solution

27. 100 ml of a sample of  by dissociation yielded 560 ml  at NTP.

The molarity and volume strength of the sample of  is respectively

A. 0.5 and 5.6

B. 1 and 11.2

C. 10 and 112

D. 20 and 224

Answer:

Watch Video Solution

H2O2 O2

H2O2

https://dl.doubtnut.com/l/_eCPAOfVD4SPj
https://dl.doubtnut.com/l/_jbH5CalIspO3


28. Which one of the following statements is not correct for ortho and

para hydrogen?

A. They have different boiling points

B. Ortho form is more stable than the para form

C. They differ in the spin of their protons

D. The ratio of ortho to para hydrogen increases with increase in

temperature

Answer: D

Watch Video Solution

29. If 10  solution of  on decomposition gives 150  of  at

STP, then volume strength of  is

A. 15

B. 30

cm3 H2O2 cm3 O2

H2O2

https://dl.doubtnut.com/l/_qNxAnv6EJ2UU
https://dl.doubtnut.com/l/_6vZaKPzdCV8m


C. 20

D. 10

Answer: A

Watch Video Solution

30. Which of the following is not correct for ?

A. Boiling point is higher than 

B.  reacts slowly than 

C. Viscosity is higher than  at 

D. Solubility of  in  is more than 

Answer: D

Watch Video Solution

D2O

H2O

D2O H2O

H2O 25∘C

NaCl D2O H2O

https://dl.doubtnut.com/l/_6vZaKPzdCV8m
https://dl.doubtnut.com/l/_uBHNv5RtbZ8b


31. Why does  ion always get associated with other atoms or

molecules?

A. Ionisation enthalpy of hydrogen resembles thatofalkali metals .

B. Its reactivity is similar to halogens

C. It resembles both alkali metals and halogens

D. Loss of an electron from hydrogen atom results in anucleus of very

small size as compared to other atoms orions. Due to small size it

cannot exist free

Answer: D

Watch Video Solution

H +

32. Metallic hydrides are useful for hydrogen storage because

A. they reacts with hydrogen and form stable compound

B. they absorb H-atoms

https://dl.doubtnut.com/l/_xeSqsffKqzaz
https://dl.doubtnut.com/l/_wdfl8r7coYHZ


C. they adsorb H-atoms

D. they form unstable compounds with hydrogen

Answer: C

Watch Video Solution

33. Which of the following is not true?

A.  freezes at lower temperature than 

B. Reaction between  and  is much faster than  and 

C. Ordinary water electrolysed more rapidly than 

D. Bond dissociation energy of  is greater than 

Answer: A

Watch Video Solution

D2O H2O

H2 Cl2 D2 CI2

D2O

D2 H2

https://dl.doubtnut.com/l/_wdfl8r7coYHZ
https://dl.doubtnut.com/l/_IklzOYp15XkN


34. The increasing order of reducing property of  and 

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaH, MgH2 H2O

NaH < H2O < MgH2

MgH2 < H2O < NaH

H2O < MgH2 < NaH

NaH < MgH2 < H2O

35. In context with the industrial preparation of hydrogen from water gas

, which of the following is the correct statement? :

 are fractionally separated using differences in their

densities. ,  is removed by absorption in aqueous  solution. , 

 is removed through occlusion with Pd. ,  is oxidized to  with

(CO + H2)

CO and H2

CO Cu2Cl2

H2 CO CO2

https://dl.doubtnut.com/l/_Qpc637G3LStJ
https://dl.doubtnut.com/l/_UCnzs1saAMc4


steam in the presence of a catalyst followed by absorption of  in

alkali.

A.  are fractionally separated using differences in their

densities.

B.  is removed by absorption in aqueous  solution.

C.  is removed through occlusion with Pd.

D.  is oxidized to  with steam in the presence of a catalyst

followed by absorption of  in alkali.

Answer: D

Watch Video Solution

CO2

CO and H2

CO Cu2Cl2

H2

CO CO2

CO2

36. An element that does not form stable hydride is

A. Al

B. Fe

https://dl.doubtnut.com/l/_UCnzs1saAMc4
https://dl.doubtnut.com/l/_dGjHF5uyJO4a


C. 

D. 

Answer: A

Watch Video Solution

Li

Na

37. Chemical A is used for water softening to remove temporary hardness.

Chemical Areacts with sodium carbonate to generate caustic soda. When

 is bubbled through a solution A, it turns cloudy. What is the

chemical formula of A?

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

CO2

CaO

Ca(OH)2

CaCO3

Ca(HCO3)2

https://dl.doubtnut.com/l/_dGjHF5uyJO4a
https://dl.doubtnut.com/l/_W9oVYw0GOig3


Watch Video Solution

38. In which of the following reactions  acts as a reducing agent? 


 


A. i), ii)

B. iii), iv)

C. i), iii)

D. ii), iv)

Answer: D

Watch Video Solution

H2O2

i)H2O2 + 2H + + 2e− → 2H2O    ii)H2O2 − 2e− → O2 + 2H +

iii)H2O2 + 2e− → 2OH −    iv)H2O2 + 2OH − − 2e− → O2 + 2H2O

39. Find the percentage strength of  in a sample marked “10

volumes.”

A. 

H2O2

3 %

https://dl.doubtnut.com/l/_W9oVYw0GOig3
https://dl.doubtnut.com/l/_fWaqs94gY6nl
https://dl.doubtnut.com/l/_LRLkWK7DpEhD


B. 

C. 

D. 

Answer: A

Watch Video Solution

0.5 %

0.1 %

0.15 %

40. Hydrogen molecule differs from chlorine molecule in the following

respect:

A. Hydrogen molecule is non-polar but chlorine molecule is polar

B. Hydrogen molecule is polar while chlorine molecule is non-polar

C. Hydrogen molecule can form intermolecular hydrogen bonds but

chlorine molecule does not

D. Hydrogen molecule cannot participate in coordination bond

formation but chlorine molecule can

https://dl.doubtnut.com/l/_LRLkWK7DpEhD
https://dl.doubtnut.com/l/_lg71foCe3skG


Answer: D

Watch Video Solution

41. High dipole moment of water justifies that

A. it is not linear molecule

B. it is a universal solvent

C. it has higher density than ice

D. it is neutral toward litmus

Answer: A

Watch Video Solution

42. Which of the following is correct about heavy water?

A. Water at  having maximum density is known as heavy water4∘C

https://dl.doubtnut.com/l/_lg71foCe3skG
https://dl.doubtnut.com/l/_hYddbJpeUytF
https://dl.doubtnut.com/l/_Uwk2A0b0EMLR


B. It is heavier than water

C. It is formed by the combination of heavier isotope of hydrogen and

oxygen

D. Both B and C

Answer: D

Watch Video Solution

43. The atom of oxygen lost by  molecule during oxidation reaction

is that which is linked through

A. an electrovalent bond

B. a covalent bond

C. a coordinate bond

D. a hydrogen bond

Answer: B

H2O2

https://dl.doubtnut.com/l/_Uwk2A0b0EMLR
https://dl.doubtnut.com/l/_QMXdBTWvcvuX


Watch Video Solution

44. In which of the following reactions does dihydrogen act as an

oxidising agent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ca + H2 → CaH2

2H2 + O2 → 2H2O

H2 + F2 → 2HF

CuO + H2 → Cu + H2O

45. The melting points of most of the solid substances increase with an

increase of pressure acting on them. However, ice melts at a temperature

lower than its usual melting point when the pressure is increased. This is

because:

https://dl.doubtnut.com/l/_QMXdBTWvcvuX
https://dl.doubtnut.com/l/_8qVZdo0Jj6VL
https://dl.doubtnut.com/l/_1rrFvTtQaLj7


A. ice is less dense than water

B. it generates heat

C. chemical bonds break under pressure

D. none

Answer: A

Watch Video Solution

46. When 50%solution of  is electrolysed by passing a current of

high density at low temperature the main products of electrolysis are:

A. oxygen and hydrogen

B.  and peroxo disulphuric acid

C.  and 

D.  and peroxy disulphuric acid

Answer: B

H2SO4

H2

H2 SO2

O2

https://dl.doubtnut.com/l/_1rrFvTtQaLj7
https://dl.doubtnut.com/l/_nDwNUuWEfqhf


Watch Video Solution

47. of  oxidises , in acidic medium.

Volume of the same  required in alkaline medium to oxidise 100

mL of the same  will be (  changes to  in acidic

medium and to  in alkaline medium)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

100mL 0.01MKMnO4 100mLH2O

KMnO4

H2O2 MnO
−
4 Mn2 +

MnO2

mL
100

3

mL
500

3

mL
300

5

mL
100

5

48. 10mL of  solution (volume strength=x) requires-10 mL of 

 solution in acidic medium. Hence x is

H2O2

N /0.56MnO
−
4

https://dl.doubtnut.com/l/_nDwNUuWEfqhf
https://dl.doubtnut.com/l/_IF0bzIQZkBCa
https://dl.doubtnut.com/l/_QJRafkIDLmTJ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0.56

5.6

0.1

10

49. 10L of hard water required 0.56 goflime (CaO) for removing hardness.

Hence, temporary hardness in ppm (part per million, 10%) of  is

A. 100

B. 200

C. 10

D. 20

Answer: B

CaCO3

https://dl.doubtnut.com/l/_QJRafkIDLmTJ
https://dl.doubtnut.com/l/_n0tOtNfFZ2Bc


Watch Video Solution

50. Match List- I with List-II and select the correct answer using the codes

given below in the lists: 

Watch Video Solution

List I List II

1. Heavy water A. Bicarbonates of Mg and Ca in water 

2. Temporary hard water B. No foreign ions in water

3. Soft water C. D2O

4. Permanent hard water D.  Sulphates and chlorides of Mg and Ca in wa

51. Consider  and :

A. all are ionic hydrides

B.  are ionic, whereas  is covalent

C.  are ionic, whereas is metallic

D.  is ionic,  is covalent and  is metallic

Answer: D

LiH, MgH2 CuH

LiH, MgH2 CuH

LiH, MgH2 CuH

LiH MgH2 CuH

https://dl.doubtnut.com/l/_n0tOtNfFZ2Bc
https://dl.doubtnut.com/l/_uToLF7OxlbyX
https://dl.doubtnut.com/l/_Yb6Ls2TC6rpr


Watch Video Solution

52. Which statements is/are correct?

A. Boiling point of  are maximum in their respective

group due to intermolecular H-bonding

B. Boiling point of is lower out of  and 

C. Formic acid forms dimer by H-bonding

D. All the above are correct statements

Answer: D

Watch Video Solution

H2O, NH3, HF

CH4 CH4, SiH4, GeH4 SnH4

53. Hydrogen

A. is placed in 1 since it forms monovalent cation 

B. is placed in halogen family since it forms monovalent anion 

H +

H −

https://dl.doubtnut.com/l/_Yb6Ls2TC6rpr
https://dl.doubtnut.com/l/_l9AnSv9kjSvG
https://dl.doubtnut.com/l/_roXlpdz2OrsE


C. is placed in carbon family since both have a half filled shell of

electrons

D. follows all of the above facts

Answer: D

Watch Video Solution

54. Bond angles  and in water and hydrogen

peroxide repectively are

A.  in both

B.  in both

C. 

D. and

Answer: C

Watch Video Solution

H– O– H H − O − O −

104.5∘

94.8∘

104.5∘ , 94.8∘

94.8∘ 104.5∘

https://dl.doubtnut.com/l/_roXlpdz2OrsE
https://dl.doubtnut.com/l/_jVRQuljbc7K7


55. Nascent hydrogen is formed in... 

 


 

A. I, II

B. II, III

C. I, II, III

D. IV

Answer: A

Watch Video Solution

I :Zn + dil. HCl    II. :CH3OH + Na

III : Electrolysis of H2O IV . : Silent electric discharge of H2O2

56. Oụt of the following metals which will give  on reaction with 




H2

NaOH

I :Zn   II :Mg   III :AI   IV :Be

https://dl.doubtnut.com/l/_jVRQuljbc7K7
https://dl.doubtnut.com/l/_JQT10b1z4PCa
https://dl.doubtnut.com/l/_DyTKvE4h1Um0


A. I, II, III, IV

B. I, III, IV

C. II,IV

D. I, III.

Answer: B

Watch Video Solution

57. Under what conditions of temperature and pressure the formation of

atomic hydrogen from molecular hydrogen will be favoured most?

A. high temperature and high pressure

B. low temperature and low pressure

C. high temperature and low pressure

D. low temperature and high pressure

Answer: C

https://dl.doubtnut.com/l/_DyTKvE4h1Um0
https://dl.doubtnut.com/l/_l4GCi2IUCZRD


Watch Video Solution

58.  can also be obtained by the partial oxidation of 2-propanol. 


. Intermediate

in this reaction is

A. 

B. 

C. 

D. none of the above

Answer: C

Watch Video Solution

H2O2

(CH3)2CHOH + O2

littleH2O2 +O2

−−−−−−−−−−−→
pressure

(CH3)2CO + H2O2

(CH3)3C
+

https://dl.doubtnut.com/l/_l4GCi2IUCZRD
https://dl.doubtnut.com/l/_my7KIXuDu5MJ


59. Consider following statements : 

 


Select correct statements based on these reactions.

A.  is a Lewis acid in I and Lewis base in II

B.  is a Lewis base in I and Bronsted base in II

C.  is a Lewis acid in I and Bronsted acid in II

D.  isa Lewis base in I and II

Answer: B

Watch Video Solution

I :AIH3 + H − → AlH
−

4     II :H2O + H − → H2 + OH −

H −

H −

H −

H −

60. The hydride ion  is a stronger base than hydroxide ion, which of

the following reactions will occur sodium hydride (NaH) is dissolved in

water?

A. 

H −

2H + (aq) → H2 + 2e−

https://dl.doubtnut.com/l/_Xx9Y46Ga84J4
https://dl.doubtnut.com/l/_mjr3IZlCoQHw


B. 

C. 

D. None of the above

Answer: B

Watch Video Solution

H − (aq) + H2O(l) → OH − + H2

H − + H2O(l) → No reaction

61. The correct decreasing order of basic strength is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AsH3 > SbH3 < PH3 < NH3

SbH3 > AsH3 > PH3 > NH3

NH3 > PH3 > AsH3 > SbH3

PH3 > AsH3 > SbH3 > NH3

https://dl.doubtnut.com/l/_mjr3IZlCoQHw
https://dl.doubtnut.com/l/_gwxyBJMlKFY1
https://dl.doubtnut.com/l/_IIleaLWxjTe2


62. Zinc gives  but not with conc.

HNO_3, because:

A. Zn acts as an oxidising agent when reacts with 

B.  is weaker acid than  and HCI

C. in electrochemical series Zn is above hydrogen

D.  is reduced in preference to hydronium ion

Answer: D

Watch Video Solution

H2   gas with H2SO4, and conc. HCl

HNO3

HNO3 H2SO4

NO−
3

63. Mass of one atom is . Its percentage in a hydride is

95.24. Thus, hydride is

A. 

B. 

C. 

6.66 × 10− 23g

MH

MH2

MH3

https://dl.doubtnut.com/l/_IIleaLWxjTe2
https://dl.doubtnut.com/l/_PMshE7GLcY4U


D. 

Answer: B

Watch Video Solution

MH4

64. Select incorrect statement.

A. Ortho and para hydrogen are different due to difference in their

nuclear spins

B. Ortho and para hydrogen are different due to difference in their

electron spins

C. Parahydrogen has a lower internal energy than that of ortho

hydrogen

D. Para hydrogen is more stable at lower temperature

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_PMshE7GLcY4U
https://dl.doubtnut.com/l/_KWiqxTK1eQnQ


65. Select correct statement(s).

A.  reduces  to  in acidic medium

B.  reduces  to  in basic medium

C.  can be used to bleach blackened oil paintings

D. All the above are.correct statement

Answer: D

Watch Video Solution

H2O2 MnO
−
4 Mn2 +

H2O2 MnO
−
4 MnO2

H2O2

66. 10 mL of , solution on treatment with KI and titration of

liberated , required 10 mL of 1 N hypo. Thus  is

A. 1 N

B. 5.6 volume.

C. 

H2O2

I2 H2O2

17gL− 1

https://dl.doubtnut.com/l/_KWiqxTK1eQnQ
https://dl.doubtnut.com/l/_Hp53bA5WrMr7
https://dl.doubtnut.com/l/_LA1Ey3LIvHQg


D. all are correct

Answer: D

Watch Video Solution

67. An inorganic substance liberates oxygen on heating and turns an

acidic solution of KI brown and reduces acidified  solution. The

substance is:

A. HgO

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

H2O2

KNO3

Pb(NO3)2

https://dl.doubtnut.com/l/_LA1Ey3LIvHQg
https://dl.doubtnut.com/l/_teXuhihX3bKg
https://dl.doubtnut.com/l/_vyKZA0IARbSG


68. In which of the following reactions does hydrogen act as an oxidising

agent?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2 + F2 →

H2 + SiCl4 →

Na + H2 →

CuO + H2 →

69. When  is added to ice cold solution of acidified potassium

dichromate in ether and the contents are shaken and allowed to stand :

A. a blue colour is obtained in ether due to formation of 

B. a blue colour is obtained in ether due to formation of 

C. a blue colour is obtained in ether due to formation of 

H2O2

Cr2(SO4)3

CrO5

CrO3

https://dl.doubtnut.com/l/_vyKZA0IARbSG
https://dl.doubtnut.com/l/_mTs8QYdZcwZQ


D. chromyl chloride is formed

Answer: B

Watch Video Solution

70. 2g of aluminium is treated separately with excess of dil.  and

excess of NaOH, the ratio of volume of hydrogen evolved is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4

2: 3

1: 1

2: 1

1: 2

https://dl.doubtnut.com/l/_mTs8QYdZcwZQ
https://dl.doubtnut.com/l/_0XP5eEC1iiDC


71. In which reaction, hydrogen peroxide neither acts as an oxidising

agent nor as a reducing agent?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PbS + H2O2 →

SO−
3 + H2O2 →

PbO2 + H2O2 →

Na2CO3 + H2O2 →

72. Which one of the following reactions does not form gaseous product?

A. 

B. 

C. 

D. 

PbO2 + H2O2 →

PbS + H2O2 →

Cl2 + H2O2 →

Na2CO3 + H2O2 →

https://dl.doubtnut.com/l/_UjL8Wi3KDRqy
https://dl.doubtnut.com/l/_fyVhcfokoYl8


Level Ii Assertion Reason Type Questions

Answer: B

Watch Video Solution

1. Assertion : The water gas shift reaction can be used to increase the

amount of  in the 'syn gas' mixture. 


Reason : In this reaction, water is reduced to  by CO
 (I) If both

assertion and reason are correct and reason is the correct explanation of

assertion.
(II) Both assertion and reason are correct but reason is not the

correct explanation of assertion
 (III) If assertion is correct and reason is

not correct
(IV) Assertion is wrong and reason is correct

A. If both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

H2

H2

https://dl.doubtnut.com/l/_fyVhcfokoYl8
https://dl.doubtnut.com/l/_kmBYfG9AIUue


C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

2. Assertion : Calgon is used in the manufacture of soft water used for

laundry purpose 

Reason :  ions present in hardwater are rendered

ineffective by calgon forming their soluble complexes.
(I) If both assertion

and reason are correct and reason is the correct explanation of assertion.

(II) Both assertion and reason are correct but reason is not the correct

explanation of assertion
 (III) If assertion is correct and reason is not

correct
(IV) Assertion is wrong and reason is correct

A. If both assertion and reason are correct and reason is the correct

explanation of assertion.

Ca2 + and Mg2 +

https://dl.doubtnut.com/l/_kmBYfG9AIUue
https://dl.doubtnut.com/l/_FVAgm8wH2YVQ


B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

3. Assertion : Heavy water is widely used as moderator in nuclear reactors.

Reason : It slows down the fast moving neutrons and thus helps in

controlling the nuclear reactions.

A. If both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

C. If assertion is correct and reason is not correct

https://dl.doubtnut.com/l/_FVAgm8wH2YVQ
https://dl.doubtnut.com/l/_IKvl3Q3XHrzA


D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

4. Assertion : Hydrogen combines with other elements by losing, gaining

or sharing electrons. 

Reason : Hydrogen forms electrovalent and covalent bonds with other

elements.

A. If both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

https://dl.doubtnut.com/l/_IKvl3Q3XHrzA
https://dl.doubtnut.com/l/_5ymrlNwsVfj5


Answer:

Watch Video Solution

5. Assertion : Alkali metal amalgam is usually used to prepare hydrogen

from dilute acids. 

Reason : Reaction of alkali metals with dilute acids is highly exothermic

and easily catch fire.

A. If both assertion and reason are correct and reason is the correct

explanation of assertion.

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

C. If assertion is correct and reason is not correct

D. Assertion is wrong and reason is correct

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5ymrlNwsVfj5
https://dl.doubtnut.com/l/_XWNWKng7TMYl


Questions

1. Calculate the concentration in g/litre of "20 volume" solution of

hydrogen peroxide.

Watch Video Solution

2. Calculate the strength in , molarity and normality of 30 volume

perhydrol.

Watch Video Solution

gL− 1

3. A certain sample of hydrogen peroxide is 2.5 M solution. It is to be

labelled as X volumes. Calculate the value of X.

Watch Video Solution

https://dl.doubtnut.com/l/_XWNWKng7TMYl
https://dl.doubtnut.com/l/_JgkP50QHbw9u
https://dl.doubtnut.com/l/_sameccqqupb7
https://dl.doubtnut.com/l/_odZNc3g3UIQo
https://dl.doubtnut.com/l/_ooVovoeDlyB9


Level I

4. What mass of hydrogen peroxide is present in 2.5 litre solution of 5 M

strength? Calculate the volume of oxygen at STP liberated upon complete

decomposition of  of the above solution.

Watch Video Solution

500cm3

1. Water softening by Clarke's process uses which of the following

A. Calcium bicarbonate

B. Sodium bicarbonate

C. Potash alum

D. Calcium hydroxide

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ooVovoeDlyB9
https://dl.doubtnut.com/l/_OAj8j9NDO2Ca


2. Hydrogen peroxide is reduced by

A. Ozone

B. Barium peroxide

C. Acidic solution of 

D. Lead sulphide suspension

Answer: D

Watch Video Solution

KMnO4

3. Hydrogen peroxide is prepared in the laboratory by

A. Adding  , to dil. 

B. Passing  into 

C. Adding  to cold water

D. Adding  to 

MnO2 H2SO4

CO2 BaO2

Na2O2

PbO2 KMnO4

https://dl.doubtnut.com/l/_AsilvpHe3Mgc
https://dl.doubtnut.com/l/_FWrc1tU0Yg7W


Answer: B

Watch Video Solution

4. The degree of hardness of water is usually expressed in terms of

A. ppm by weight of 

B. g/L of  and  present

C. ppm by weight of  irrespective of whether it is actually

present

D. ppm of  actually present is water

Answer: C

Watch Video Solution

MgSO4

CaCO3 MgCO3

CaCO3

CaCO3

5. Semi-water gas is a mixture of

https://dl.doubtnut.com/l/_FWrc1tU0Yg7W
https://dl.doubtnut.com/l/_pLG0GK8IUb8J
https://dl.doubtnut.com/l/_wvx5bf4UNJ1u


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CO + H2

CO + N2

CO + H2 + N2

H2 + CH4

6. The boiling point of water is high because

A. water molecule is linear

B. water molecule is not linear

C. water molecules possess covalent bond between H and O

D. water molecules associate due to H-bonding

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wvx5bf4UNJ1u
https://dl.doubtnut.com/l/_SJVXd12dIHEV


7. Which of the following hydrides is electron precise hydride?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

B2H6

NH3

HF

CH4

8. Which one of the following processes will produce hard water?

A. Saturation of water with 

B. Saturation of water with 

C. Saturation of water with 

CaCO3

MgCO3

CaSO4

https://dl.doubtnut.com/l/_SJVXd12dIHEV
https://dl.doubtnut.com/l/_sZVEe7If7dF4
https://dl.doubtnut.com/l/_X7AN9ZinBFe2


D. Addition of , to water

Answer: C

Watch Video Solution

Na2SO4

9. Very pure hydrogen (99.9%) can be made by which of the following

processes?

A. Reaction of methane with steam.

B. Mixing natural hydrocarbons of high molecular weight

C. Electrolysis of water.

D. Reaction of salt like hydrides with water.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_X7AN9ZinBFe2
https://dl.doubtnut.com/l/_0y411woIg5wu


10. Which physical property of dihydrogen is wrong?

A. Colourless gas

B. Odourless gas

C. Tasteless gas

D. Non-inflammable gas

Answer: D

Watch Video Solution

11. The conversion of atomic hydrogen into ordinary hydrogen is

A. exothermic change

B. endothermic change

C. nuclear change

D. photochemical change

https://dl.doubtnut.com/l/_YlV6mmOGs7yp
https://dl.doubtnut.com/l/_U1HM6Gra31HG


Answer: A

Watch Video Solution

12. Of the following statements regarding dihydrogen, identify the

statement which is not correct?

A. It is a colourless, odouriess, tasteless gas

B. It has very low solubility in water

C. It forms more compounds than any other element

D. It is a highly reactive gas.

Answer: D

Watch Video Solution

13. The correct order of the thermal stability of hydrogen halides (H-X) is

https://dl.doubtnut.com/l/_U1HM6Gra31HG
https://dl.doubtnut.com/l/_BKGl3LBlxKbG
https://dl.doubtnut.com/l/_04380AxBrivc


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HI > HBr > HCI > HF

HF > HCI > HBr > HI

HCI < HF > HBr < HI

HI > HCI < HF > HBr

14. Electron-deficient, electron-precise and electron-rich hydrides are

types of

A. ionic hydrides

B. interstitial hydrides

C. covalent hydrides

D. metallic hydrides

Answer: C

https://dl.doubtnut.com/l/_04380AxBrivc
https://dl.doubtnut.com/l/_JJBMFRcqGGs5


Watch Video Solution

15. Which of the following elements form metallic hydrides?

A. A They generally form non-stoichiometric species

B. B The hydrogen dissolved in titanium improves its mechanical

properties

C. C They give rise to metals fit for fabrication

D. D On thermal decomposition, they afford a source of pure hydrogen

Answer: A

Watch Video Solution

16. Which of the following has the highest extent of hydrogen bonding?

A) NH3, B)H2O c)HF

A. NH3

https://dl.doubtnut.com/l/_JJBMFRcqGGs5
https://dl.doubtnut.com/l/_CmxkhaxOYRxC
https://dl.doubtnut.com/l/_26BVsvgt8E6k


B. 

C. 

D. Same in all

Answer: B

Watch Video Solution

H2O

HF

17. Which of the following hydrides is used for the storage of hydrogen

and serve as a source of energy?

A. Ionic hydride

B. Covalent hydride

C. Metallic hydride

D. Polymeric hydride

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_26BVsvgt8E6k
https://dl.doubtnut.com/l/_qQvKccQTtQ0x


18. The  of water

A. increases with increase in temperature

B. decreases with increase in temperature

C. increases upto  followed by decrease

D. remains constant with change in temperature

Answer: B

Watch Video Solution

pk ∘
w

4∘C

19. Which of the following has lower value for  than for ?

A. Molecular mass

B. Boiling point

C. Viscosity.

D. Ionization constant

D2O H2O

https://dl.doubtnut.com/l/_qQvKccQTtQ0x
https://dl.doubtnut.com/l/_MM0N8EuDY8AZ
https://dl.doubtnut.com/l/_EkWSdLm3sjuW


Answer: D

Watch Video Solution

20. When hard water is passed through permutit, which ions are

exchanged with  and ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ca2 Mg2 +

Na+

Al3 +

H +

K +

21. Hydrogen peroxide acts both as an oxidizing and as a reducing agent

depending upon the nature of the reacting species. In which of the

https://dl.doubtnut.com/l/_EkWSdLm3sjuW
https://dl.doubtnut.com/l/_xj9NlVCybbMy
https://dl.doubtnut.com/l/_utfKLQN4g173


following cases  acts as a reducing agent in acid medium?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2O2

MnO4 −

Cr2O
2 −
7

SO2 −
3

KI

22. From the following statements regarding  choose the incorrect

statement.

A. A. It decomposes on exposure to light

B. B. It has to be stored in plastic or wax lined glass bottles in dark

C. C. It'has to be kept away from dust

D. D. It can act only as an oxidizing agent

H2O2

https://dl.doubtnut.com/l/_utfKLQN4g173
https://dl.doubtnut.com/l/_GE1NhvIQ8XGI


Answer: D

Watch Video Solution

23. The  bond angle in  in the gas phase is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O − O − H H2O2

106∘

109∘ 28'

120∘

94.8∘

24. The bleaching property of hydrogen peroxide is due to its

A. acidic nature

https://dl.doubtnut.com/l/_GE1NhvIQ8XGI
https://dl.doubtnut.com/l/_cGRObcxkA7vC
https://dl.doubtnut.com/l/_py5emisHwOsY


B. ability to liberate nascent oxygen

C. reducing nature

D. ability to liberate nascent hydrogen

Answer: B

Watch Video Solution

25. Calgon used as a water softener is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Na2[Na4(PO3)6]

Na4[Na2(PO3)6]

Na2[Na4(PO4)5]

Na4[Na4(PO4)6]

https://dl.doubtnut.com/l/_py5emisHwOsY
https://dl.doubtnut.com/l/_l9gtKS5g0Dxe
https://dl.doubtnut.com/l/_dGKYqhjyp4rD


26. Hydrogen has the tendency to gain one electron to acquire helium

configuration. In this respect, it resembles

A. alkali metals

B. carbon

C. alkaline earth metals

D. halogens

Answer: D

Watch Video Solution

27. Ortho-Hydrogen and para-hydrogen resemble in which of the

following property?

A. Themal conductivity

B. Magnetic properties

C. Chemical properties

https://dl.doubtnut.com/l/_dGKYqhjyp4rD
https://dl.doubtnut.com/l/_7EN1u1yrbApt


D. Heat capacity

Answer: C

Watch Video Solution

28. The bond angle and dipole moment of water, respectively, are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

109.5∘ , 1.84D

107.5∘ , 1.56D

104.5∘ , 1.84D

102.5∘ , 1.56D

29. Which of the following produces hydrolith with dihydrogen?

https://dl.doubtnut.com/l/_7EN1u1yrbApt
https://dl.doubtnut.com/l/_CMvtzdLmfe96
https://dl.doubtnut.com/l/_ZAJOVRZbG6px


A. Mg

B. Al

C. Cu

D. Ca

Answer: D

Watch Video Solution

30.  is always stored in black bottles because

A. it is highly unstable

B. its enthalpy of decomposition is high

C. it undergoes auto-oxidation on prolonged standing

D. Both A&C

Answer: D

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_ZAJOVRZbG6px
https://dl.doubtnut.com/l/_mBYGTQvO6c3u


31. Hydrides of elements of Groups 3–5 are generally called

A. interstitial hydrides

B. ionic hydrides

C. polymeric hydrides

D. complex hydrides

Answer: A

Watch Video Solution

32. Decomposition of  is prevented by

A. 

B. 

C. acetanilide

H2O2

NaOH

MnO2

https://dl.doubtnut.com/l/_mBYGTQvO6c3u
https://dl.doubtnut.com/l/_5BsESCzntShZ
https://dl.doubtnut.com/l/_hS5qrw930D0w


D. oxalic acid

Answer: C

Watch Video Solution

33. In which of the following compounds does hydrogen exhibit a

negative oxidation state:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

LiH

H2O

HCI

NaOH

https://dl.doubtnut.com/l/_hS5qrw930D0w
https://dl.doubtnut.com/l/_fhXOF0YlyhLU


34. When water is dropped over sodium peroxide, the colourless gas

produced is

A. dinitrogen

B. dioxygen

C. dihydrogen

D. hydrogen peroxide

Answer: B

Watch Video Solution

35. What is false about Lane's process?

A. Method is used for manufacture of dihydrogen

B. It involves the oxidation of iron by steam

C. It involves the reduction of  by iron

D. It involves the oxidation of water gas

H2Og

https://dl.doubtnut.com/l/_yaRkLC94dMRe
https://dl.doubtnut.com/l/_NAx13Mo5YQzf


Answer: D

Watch Video Solution

36. The volume of 10 volume  required to liberate 500 mL of  at

STP is

A. 25mL

B. 50mL

C. 100mL

D. 125mL

Answer: B

Watch Video Solution

H2O2 O2

37. On burning hydrogen in air the colour of flame is

https://dl.doubtnut.com/l/_NAx13Mo5YQzf
https://dl.doubtnut.com/l/_Yd3pSqAkMTvl
https://dl.doubtnut.com/l/_VOx5QwVDn9Eg


A. green

B. light bluish

C. yellow

D. red

Answer: B

Watch Video Solution

38. When electric current is passed through an ionic hydride in molten

state :

A. hydrogen is liberated at anode

B. hydrogen is liberated at cathode

C. hydride ion migrates towards cathode

D. hydride ion remains in solution

Answer: A

https://dl.doubtnut.com/l/_VOx5QwVDn9Eg
https://dl.doubtnut.com/l/_4WKSdwDDvejo


Watch Video Solution

39. Among , and  which are covalent hydrides?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CaH2, NaH, NH3 B2H6

NH3 and B2H6

NaH, and CaH2

NaH, and NH3

CaH2 and B2H6

40. Both temporary and permanent hardness is removed on boiling with

A. 

B. 

C. 

Ca(OH)2

Na2CO3

CaCO3

https://dl.doubtnut.com/l/_4WKSdwDDvejo
https://dl.doubtnut.com/l/_DuDSuccRhccu
https://dl.doubtnut.com/l/_0Kt9URx6a6HE


D. 

Answer: B

Watch Video Solution

CaO

41. The mass per cent of  in '30 volume  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O2 H2O2

4.56 %

9.11 %

11.39 %

13.67 %

42. Hard water is not fit for washing clothes because

https://dl.doubtnut.com/l/_0Kt9URx6a6HE
https://dl.doubtnut.com/l/_Xf12tgl452X0
https://dl.doubtnut.com/l/_jnfl2lIo6Fw5


A. it contains  and KCI

B. it gives precipitate with soap

C. it contains impurities

D. it is acidic in nature

Answer: B

Watch Video Solution

Na2SO4

43. The combination of hydrogen and carbon monoxide in the presence

of the catalyst  and Cu gives

A. 

B. 

C. 

D. 

Answer: D

ZnO

C + H2O

CH4 + H2O

HCHO

CH3OH

https://dl.doubtnut.com/l/_jnfl2lIo6Fw5
https://dl.doubtnut.com/l/_vscBfjafJ1yc


Watch Video Solution

44. Which of the following orders of boiling points of hydrides of Group

16 is correct?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O > H2Se > H2S

H2O > H2S < H2Se

H2O < H2S > H2Se

H2O < H2S < H2Se

45. Which of the following statements regarding water is not correct?

A. High dielectric constant and strong solvating power make water an

excellent solvent

https://dl.doubtnut.com/l/_vscBfjafJ1yc
https://dl.doubtnut.com/l/_JNBCNzGgvODx
https://dl.doubtnut.com/l/_k7ptHxXtPJgS


Level Ii Assertion Reason Type

B. Water expands on freezing

C. The density of water is maximum at 

D. On cooling, density of water decreases upto 4°C followed by

increase up to

Answer: D

Watch Video Solution

4∘C

4∘C

1. Assertion : Beryllium hydride is a covalent hydride. 

Reason : The electronegativity difference between Be and H is very high.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

https://dl.doubtnut.com/l/_k7ptHxXtPJgS
https://dl.doubtnut.com/l/_UAtSoHEeg5dy


C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

2. Assertion :  has higher boiling point than water. 


Reason : The dipole moment of  is little more than that of water.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

H2O2

H2O2

https://dl.doubtnut.com/l/_UAtSoHEeg5dy
https://dl.doubtnut.com/l/_k8JTaQiOnJ2m


Watch Video Solution

3. Assertion : Permanent hardness of water is removed by treatment with

washing soda. 

Reason : Washing soda reacts with soluble magnesium and calcium

sulphate to form insoluble carbonates.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_k8JTaQiOnJ2m
https://dl.doubtnut.com/l/_OypgvlUI85fV
https://dl.doubtnut.com/l/_ca4Y2jsvTqMP


4. Assertion : The colour of old lead paintings can be restored by washing

with a dilute solution of . 


Reason : Hydrogen peroxide oxidises black lead sulphide to white lead

sulphate.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

H2O2

5. Assertion : The water gas shift reaction can be used to increase the

amount  in the syngas mixture. 
H2

https://dl.doubtnut.com/l/_ca4Y2jsvTqMP
https://dl.doubtnut.com/l/_dLO17pHAvGo1


Reason : In this reaction,  reduces steam to .

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

CO H2

6. Assertion : Chlorine reacts more rapidly with  than with . 


Reason : D-Cl bond is stronger than H-Cl bond.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

H2 D2

https://dl.doubtnut.com/l/_dLO17pHAvGo1
https://dl.doubtnut.com/l/_9By5VaHgUDvx


B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

7. Assertion :  is the only hydride of group 16 which is a liquid at

ordinary temperature. 

Reason : In ice, each oxygen atom is surrounded by two covalent bonds

and two hydrogen bonds.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

H2O

https://dl.doubtnut.com/l/_9By5VaHgUDvx
https://dl.doubtnut.com/l/_zoi7Gb9gmrBv


C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

8. Assertion. : NaCl is less soluble in heavy water than in ordinary water. 

Reason : Dielectric constant of ordinary water is more than that of heavy

water.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

https://dl.doubtnut.com/l/_zoi7Gb9gmrBv
https://dl.doubtnut.com/l/_nFiZ8vabH2E3


Answer: A

Watch Video Solution

9. Assertion : Decomposition of  is 'a disproportionation reaction. 


Reason :  molecule simultaneously undergoes oxidation and

reduction reactions.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

H2O2

H2O2

https://dl.doubtnut.com/l/_nFiZ8vabH2E3
https://dl.doubtnut.com/l/_yDrZJqKH1Igw


10. Assertion : On adding zinc pieces to aqueous  solution, colour

changes from deep yellow to light green. 

Reason : Aqueous  is acidic and on adding zinc, nascent hydrogen

is produced which reduces deep yellow  solution to light green 

 solution.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

FeCl3

FeCl3

FeCl3

FeCl2

https://dl.doubtnut.com/l/_Zgu1hJAaxmWM


11. Assertion : Calgon is used for removing  and  ions. 


Reason : Calgon forms precipitate with  and  ions.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: D

Watch Video Solution

Ca2 + Mg2 +

Ca2 + Mg2 +

12. Assertion : All the three isotopes of hydrogen have almost the same

chemical properties. 

https://dl.doubtnut.com/l/_I9Z6P4j8GxoX
https://dl.doubtnut.com/l/_1wqSwyhlrKqk


Reason : Isotopes differ from one another in respect of the presence of

neutrons.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

13. Assertion : Hydrides of  and F have lower boiling points than the

hydrides of their subsequent group members. 

Reason : Boiling point depends upon the molecular mass only.

N, O

https://dl.doubtnut.com/l/_1wqSwyhlrKqk
https://dl.doubtnut.com/l/_RXLPQSDJeteD


A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: D

Watch Video Solution

14. Assertion : Melting and boiling points of  are higher than those

of ordinary . 


Reason :  has lesser degree of association and lower molecular mass

than .

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

D2O

H2O

D2O

H2O

https://dl.doubtnut.com/l/_RXLPQSDJeteD
https://dl.doubtnut.com/l/_oSFoRzwOXb3Z


B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

15. Assertion : A 30% solution of H2O2 is marked as '100 volume' hydrogen

peroxide. 

Reason : 1 Lof 30% , will give 100 mL of oxygen at STP.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

H2O2

https://dl.doubtnut.com/l/_oSFoRzwOXb3Z
https://dl.doubtnut.com/l/_LFmCfiVKngL1


D. If both (A) and (R) are incorrect.

Answer: C

Watch Video Solution

16. Assertion : Temporary hardness can be removed by boiling. 

Reason : On boiling the soluble bicarbonates change to carbonates which

being insolubie, get precipitated.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

https://dl.doubtnut.com/l/_LFmCfiVKngL1
https://dl.doubtnut.com/l/_Y3cPZdoNYCpo


Watch Video Solution

17. Assertion : Hydrogen combines with other elements by losing, gaining

or sharing of electrons. 

Reason : Hydrogen forms electrovalent and covalent bonds with other

elements.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Y3cPZdoNYCpo
https://dl.doubtnut.com/l/_vWlmGxudtO9j


18. Assertion : In alkaline solution,  reacts with potassium

ferricyanide. 

Reason :  is a strong reducing agent.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: A

Watch Video Solution

H2O2

H2O2

19. Assertion : The process of adsorption of hydrogen on palladium is

known as occlusion. 

https://dl.doubtnut.com/l/_0dviGOKKJfPx
https://dl.doubtnut.com/l/_fLU563ePbcGO


Level I

Reason : The adsorbed hydrogen is more active than ordinary hydrogen.

A. If both (A) and (R) are correct and (R) is the correct explanation of

(A).

B. If both (A) and (R) are correct, but (R) is not the correct explanation

of (A).

C. If (A) is correct, but (R) is incorrect.

D. If both (A) and (R) are incorrect.

Answer: B

Watch Video Solution

1. Water softening by Clarke's process uses which of the following

A. Calcium bicarbonate

https://dl.doubtnut.com/l/_fLU563ePbcGO
https://dl.doubtnut.com/l/_P9gd5xKy7Nuv


B. Sodium bicarbonate

C. Potash alum

D. Calcium hydroxide

Answer: D

Watch Video Solution

2. Hydrogen peroxide is reduced by

A. Ozone

B. Barium peroxide

C. Acidic solution of 

D. Lead sulphide suspension

Answer: D

Watch Video Solution

KMnO4

https://dl.doubtnut.com/l/_P9gd5xKy7Nuv
https://dl.doubtnut.com/l/_pHfZumWUlu58
https://dl.doubtnut.com/l/_IvhMgv1wEyWX


3. Hydrogen peroxide is prepared in the laboratory by

A. Adding , to dil 

B. Passing ,into 

C. Adding  to cold water

D. Adding  to 

Answer: B

Watch Video Solution

MnO2 H2, SO4

CO2 BaO2

Na2, O2

PhO2 KMnO4

4. The degree of hardness of water is usually expressed in terms of

A. ppm by weight of 

B. g/L of , and , present

C. ppm by weight of , irrespective of whether it is actually

present

MgSO4

CaCO3 MgCO3

CaCO3

https://dl.doubtnut.com/l/_IvhMgv1wEyWX
https://dl.doubtnut.com/l/_6ksgrkwTbpwT


D. ppm of  , actually present is water

Answer: C

Watch Video Solution

CaCO3

5. Semi-water gas is a mixture of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CO + H2

CO + N2

CO + H2 + N2

H2 + CH4

6. The boiling point of water is high because

https://dl.doubtnut.com/l/_6ksgrkwTbpwT
https://dl.doubtnut.com/l/_gNQVFlzQgnxS
https://dl.doubtnut.com/l/_b6Uoo4eFIDht


A. water molecule is linear

B. water molecule is not linear

C. water molecules possess covalent bond between Hand O

D. water molecules associate due to H-bonding

Answer: D

Watch Video Solution

7. Which of the following hydrides is electron precise hydride?

A. 

B. 

C. HF

D. 

Answer: D

Watch Video Solution

B2H6

NH3

CH4

https://dl.doubtnut.com/l/_b6Uoo4eFIDht
https://dl.doubtnut.com/l/_tOrNex4AX2IO


8. Which one of the following processes will produce hard water?

A. Saturation of water with 

B. Saturation of water with 

C. Saturation of water with 

D. Addition of  to water

Answer: C

Watch Video Solution

CaCO3

MgCO3

CaSO4

Na2SO4

9. Very pure hydrogen (99.9%) can be made by which of the following

processes?

A. Reaction of methane with steam

B. Mixing natural hydrocarbons of high molecular weight.

C. Electrolysis of water.

https://dl.doubtnut.com/l/_tOrNex4AX2IO
https://dl.doubtnut.com/l/_udUCWJO6iotB
https://dl.doubtnut.com/l/_quUxF5NSdtAV


D. Reaction of salt like hydrides with water.

Answer: C

Watch Video Solution

10. Which physical property of dihydrogen is wrong?

A. Colourless gas

B. Odourless gas

C. Tasteless gas

D. Non-inflammable gas

Answer: D

Watch Video Solution

11. The conversion of atomic hydrogen into ordinary hydrogen is

https://dl.doubtnut.com/l/_quUxF5NSdtAV
https://dl.doubtnut.com/l/_YDIEUlaMiMgw
https://dl.doubtnut.com/l/_2iDMP9nnPdFD


A. exothermic change

B. endothermic change

C. nuclear change

D. photochemical change

Answer: A

Watch Video Solution

12. Of the following statements regarding dihydrogen, identify the

statement which is not correct?

A. It is a colourless, odourless, tasteless gas

B. It has very low solubility in water

C. It forms more compounds than any other element

D. It is a highly reactive gas.

Answer: D

https://dl.doubtnut.com/l/_2iDMP9nnPdFD
https://dl.doubtnut.com/l/_RBiWHdAdUOyO


Watch Video Solution

13. The correct order of the thermal stability of hydrogen halides (H-X) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HI > HBr > HCI > HF

HF > HCI > HBr > HI

HCI < HF > HBr < HI

HI > HCI < HF > HBr

14. Electron-deficient, electron-precise and electron-rich hydrides are

types of

A. ionic hydrides

B. interstitial hydrides

https://dl.doubtnut.com/l/_RBiWHdAdUOyO
https://dl.doubtnut.com/l/_yfxTcNMPc1MJ
https://dl.doubtnut.com/l/_EUVqthNcmoB9


C. covalent hydrides

D. metallic hydrides

Answer: C

Watch Video Solution

15. Which of the properties of interstitial hydrides is correct?

A. They generally for non-stoichiometric species

B. The hydrogen dissolved in titanium improves its mechanical

properties

C. They give rise to metals fit for fabrication

D. On thermal decomposition, they afford a source of pure hydrogen

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_EUVqthNcmoB9
https://dl.doubtnut.com/l/_AyGTIxQ94yGf
https://dl.doubtnut.com/l/_N48jMnFt8Nud


16. Which of the following has the highest extent of hydrogen bonding?

A) NH3, B)H2O c)HF

A. 

B. 

C. HF

D. Same in all

Answer: B

Watch Video Solution

NH3

H2O

17. Which of the following hydrides is used for the storage of hydrogen

and serve as a source of energy?

A. Ionic hydride

B. Covalent hydride

C. Metallic hydride

https://dl.doubtnut.com/l/_N48jMnFt8Nud
https://dl.doubtnut.com/l/_h1gKOywMpBjb


D. Polymeric hydride

Answer: C

Watch Video Solution

18. The  of water

A. increases with increase in temperature

B. decreases with increase in temperature

C. increases upto C followed by decrease

D. remains constant with change in temperature

Answer: B

Watch Video Solution

pk ∘
w

4∘

19. Which of the following has lower value for  than for ?D2O H2O

https://dl.doubtnut.com/l/_h1gKOywMpBjb
https://dl.doubtnut.com/l/_OjVkKkQIjU7U
https://dl.doubtnut.com/l/_qqemsNXTSu9R


A. Molecular mass

B. Boiling point

C. Viscosity

D. Ionization constant

Answer: D

Watch Video Solution

20. When hard water is passed through permutit, which ions are

exchanged with  and ?

A. 

B. 

C. 

D. 

Answer: A

Ca2 Mg2 +

Na+

AI 3 +

H +

K +

https://dl.doubtnut.com/l/_qqemsNXTSu9R
https://dl.doubtnut.com/l/_2LcfD4t3hHMM


Watch Video Solution

21. Hydrogen peroxide acts both as an oxidizing and as a reducing agent

depending upon the nature of the reacting species. In which of the

following cases  acts as a reducing agent in acid medium?

A. 

B. 

C. 

D. KI

Answer: A

Watch Video Solution

H2O2

MnO
−
4

Cr2O
2 −
7

SO2 −
3

22. From the following statements regarding  choose the incorrect

statement.

H2O2

https://dl.doubtnut.com/l/_2LcfD4t3hHMM
https://dl.doubtnut.com/l/_kOXF5jIoYuqw
https://dl.doubtnut.com/l/_qrWempDJL3JA


A. It decomposes on exposure to light

B. It has to be stored in plastic or wax lined glass bottles in dark

C. It has to be kept away from dust

D. It can act only as an oxidizing agent

Answer: D

Watch Video Solution

23. The  bond angle in  in the gas phase is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

O − O − H H2O2

106∘

109∘ 28

120∘

94.8∘

https://dl.doubtnut.com/l/_qrWempDJL3JA
https://dl.doubtnut.com/l/_PB7iCzVpaFE0


24. The bleaching property of hydrogen peroxide is due to its

A. acidic nature

B. ability to liberate nascent oxygen

C. reducing nature

D. ability to liberate nascent hydrogen

Answer: B

Watch Video Solution

25. Calgon used as a water softener is

A. .

B. 

C. 

Na2[Na4, (PO3)6]

Na4, [Na2, (PO3)6]

Na2, [Na4(PO4)5]

https://dl.doubtnut.com/l/_PB7iCzVpaFE0
https://dl.doubtnut.com/l/_SXwBLfwmJ8RL
https://dl.doubtnut.com/l/_ZoKj4Yaj0o4V


D. 

Answer: A

Watch Video Solution

Na4, [Na4, (PO4)6]

26. Hydrogen has the tendency to gain one electron to acquire helium

configuration. In this respect, it resembles

A. alkali metals

B. carbon

C. alkaline earth metals

D. halogens

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ZoKj4Yaj0o4V
https://dl.doubtnut.com/l/_9Yt4kOtvZPwK


27. Ortho-Hydrogen and para-hydrogen resemble in which of the

following property?

A. Themal conductivity

B. Magnetic properties

C. Chemical properties

D. Heat capacity

Answer: C

Watch Video Solution

28. The bond angle and dipole moment of water, respectively, are

A. 

B. 

C. 

D. 

109.5∘ , 1.84D

107.5∘ , 1.56D

104.5∘ , 1.84D

102.5∘ , 1.56D

https://dl.doubtnut.com/l/_j2rsV67Ryrom
https://dl.doubtnut.com/l/_GYob2Q6fBFma


Answer: C

Watch Video Solution

29. Which of the following produces hydrolith with dihydrogen?

A. Mg

B. AI

C. Cu

D. Ca

Answer: D

Watch Video Solution

30.  is always stored in black bottles because

A. it is highly unstable

H2O2

https://dl.doubtnut.com/l/_GYob2Q6fBFma
https://dl.doubtnut.com/l/_pGlcgjYt2Asw
https://dl.doubtnut.com/l/_womXikfgxThP


B. its enthalpy of decomposition is high

C. it undergoes auto-oxidation on prolonged standing

D. Both A&C

Answer: D

Watch Video Solution

31. Hydrides of elements of Groups 3–5 are generally called

A. interstitial hydrides

B. ionic hydrides

C. polymeric hydrides

D. complex hydrides

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_womXikfgxThP
https://dl.doubtnut.com/l/_ijp3p1g3bhja
https://dl.doubtnut.com/l/_AXj0FONzphDr


32. Decomposition of  is prevented by

A. NaOH

B. 

C. acetanilide

D. oxalic acid

Answer: C

Watch Video Solution

H2O2

MnO2

33. In which of the following compounds does hydrogen exhibit a

negative oxidation state:

A. LiH

B. 

C. HCI

D. NaOH

H2O

https://dl.doubtnut.com/l/_AXj0FONzphDr
https://dl.doubtnut.com/l/_mBj6jIWIypwQ


Answer: A

Watch Video Solution

34. When water is dropped over sodium peroxide, the colourless gas

produced is

A. dinitrogen

B. dioxygen

C. dihydrogen

D. hydrogen peroxide

Answer: B

Watch Video Solution

35. What is false about Lane's process?

https://dl.doubtnut.com/l/_mBj6jIWIypwQ
https://dl.doubtnut.com/l/_LiEPnIWKI1vd
https://dl.doubtnut.com/l/_DVqUQvAoFxVD


A. Method is used for manufacture of dihydrogen

B. It involves the oxidation of iron by steam

C. It involves the reduction of  by iron

D. It involves the oxidation of water gas

Answer: D

Watch Video Solution

H2, O ( g )

36. The volume of 10 volume  required to liberate 500 mL of  at

STP is

A. 25 mL

B. 50 mL

C. 100 mL

D. 125 mL

Answer: B

H2O2 O2

https://dl.doubtnut.com/l/_DVqUQvAoFxVD
https://dl.doubtnut.com/l/_uOHv0PWHT1kv


Watch Video Solution

37. On burning hydrogen in air the colour of flame is

A. green

B. light bluish

C. yellow

D. red

Answer: B

Watch Video Solution

38. When electric current is passed through an ionic hydride in molten

state :

A. hydrogen is liberated at anode

B. hydrogen is liberated at cathode

https://dl.doubtnut.com/l/_uOHv0PWHT1kv
https://dl.doubtnut.com/l/_qGxyRCxN2XOF
https://dl.doubtnut.com/l/_uzQqlWOgNSPi


C. hydride ion migrates towards cathode

D. hydride ion remains in solution

Answer: A

Watch Video Solution

39. Among , and  which are covalent hydrides?

A. , and

B. NaH and 

C. NaH and 

D. , and 

Answer: A

Watch Video Solution

CaH2, NaH, NH3 B2H6

NH3 B2, H6

CaH2

NH2

Cal2 B2, H6

https://dl.doubtnut.com/l/_uzQqlWOgNSPi
https://dl.doubtnut.com/l/_7MSeenYgyxfR


40. Both temporary and permanent hardness is removed on boiling with

A. ,

B. 

C. 

D. CaO

Answer: B

Watch Video Solution

Ca(OH)2

Na2CO3

CaCO3

41. The mass per cent of  in '30 volume  is

A. 0.0456

B. 0.0911

C. 0.1139

D. 0.1367

H2O2 H2O2

https://dl.doubtnut.com/l/_9VVFFyJ3d8Ww
https://dl.doubtnut.com/l/_KfqNfGgJnxZH


Answer: B

Watch Video Solution

42. Hard water is not fit for washing clothes because

A. it contains , and KCI

B. it gives precipitate with soap

C. it contains impurities

D. it is acidic in nature

Answer: B

Watch Video Solution

Na2, SO4

43. The combination of hydrogen and carbon monoxide in the presence

of the catalyst  and Cu givesZnO

https://dl.doubtnut.com/l/_KfqNfGgJnxZH
https://dl.doubtnut.com/l/_pvTulQLKV8d4
https://dl.doubtnut.com/l/_Cd5lhlnfly2a


A. 

B. 

C. HCHO

D. 

Answer: D

Watch Video Solution

C + H2O

CH4 + H2O

CH3OH

44. Which of the following orders of boiling points of hydrides of Group

16 is correct?

A. 

B. 

C. 

D. 

Answer: B

H2O > H2, S > H2, Se

H2, O > H2, S < H2Se

H2O < H2S > H2Se

H2O < H2S < H2Se

https://dl.doubtnut.com/l/_Cd5lhlnfly2a
https://dl.doubtnut.com/l/_CzqCyLJwpip4


Level Ii

Watch Video Solution

45. Which of the following statements regarding water is not correct?

A. High dielectric constant and strong solvating power make water an

excellent solvent

B. Water expands on freezing

C. The density of water is maximum at C

D. On cooling, density of water decreases upto 4°C followed by

increase up to C

Answer: D

Watch Video Solution

4∘

0∘

https://dl.doubtnut.com/l/_CzqCyLJwpip4
https://dl.doubtnut.com/l/_adMFaKCLqk6b


1. Which one of the following statements is not correct for ortho and

para hydrogen?

A. They have different boiling points

B. Ortho form is more stable than the para form

C. They differ in the spin of their protons

D. The ratio of ortho to para hydrogen increases with increase in

temperature and finally pure ortho form is obtained

Answer: D

Watch Video Solution

2. If 10  solution of  on decomposition gives 150  of  at

STP, then volume strength of  is

A. 15

B. 30

cm3 H2O2 cm3 O2

H2O2

https://dl.doubtnut.com/l/_eKmNSVGk1RZ9
https://dl.doubtnut.com/l/_b90nAwD078Xe


C. 20

D. 10

Answer: A

Watch Video Solution

3. Which of the following is not correct for ?

A. Boiling point is higher than 

B.  reacts slowly than 

C. Viscosity is higher than  at 

D. Solubility of NaCl in  is more than 

Answer: D

Watch Video Solution

D2O

H2O

D2O H2O

H2O 25∘C

D2, O H2, O

https://dl.doubtnut.com/l/_b90nAwD078Xe
https://dl.doubtnut.com/l/_xTNZMzmeYBq7


4. Why does  ion always get associated with other atoms or

molecules?

A. Ionisation enthalpy of hydrogen resembles that of alkali metals

B. Its reactivity is similar to halogens

C. It resembles both alkali metals and halogens

D. Loss of an electron from hydrogen atom results in a nucleus of very

small size as compared to other atoms or ions. Due to small size it

cannot exist free

Answer: D

Watch Video Solution

H +

5. Metallic hydrides are useful for hydrogen storage because

A. they reacts with hydrogen and form stable compound

B. they absorb H-atoms

https://dl.doubtnut.com/l/_pFg49izJYckR
https://dl.doubtnut.com/l/_tRF656TYIify


C. they adsorb H-atoms

D. they form unstable compounds

Answer: C

Watch Video Solution

6. Which of the following is not true?

A. O, freezes at lower temperature than 

B. Reaction between  and , is much faster than  and 

C. Ordinary water electrolysed more rapidly than ,O

D. Bond dissociation energy of , is greater than 

Answer: A

Watch Video Solution

D2 H2, O

H2 Cl2 D2 CI2

D2

D2 H2

https://dl.doubtnut.com/l/_tRF656TYIify
https://dl.doubtnut.com/l/_8bssmS7JoZjg


7. The increasing order of reducing property of  and  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaH, MgH2 H2O

NaH < H2O < MgH2

MgH2 < H2O < NaH

H2O < MgH2 < NaH

NaH < MgH2 < H2O

8. In context with the industrial preparation of hydrogen from water gas

, which of the following is the correct statement? :

 are fractionally separated using differences in their

densities. ,  is removed by absorption in aqueous  solution. , 

 is removed through occlusion with Pd. ,  is oxidized to  with

steam in the presence of a catalyst followed by absorption of  in

alkali.

(CO + H2)

CO and H2

CO Cu2Cl2

H2 CO CO2

CO2

https://dl.doubtnut.com/l/_Qummd95dbLyX
https://dl.doubtnut.com/l/_In1hgHrXDIQ5


A. CO and , are fractionally separated using differences in their

densities.

B. CO is removed by absorption in aqueous , solution.

C. , is removed through occlusion with Pd.

D. CO is oxidized to , with steam in the presence of a catalyst

followed by absorption of , in alkali

Answer: D

Watch Video Solution

H2

Cu2, Cl2

H2

CO2

CO2

9. An element that does not form stable hydride is

A. Co

B. Ca

C. Li

D. Na

https://dl.doubtnut.com/l/_In1hgHrXDIQ5
https://dl.doubtnut.com/l/_2yCMn2uY7D0G


Answer: A

Watch Video Solution

10. Chemical A is used for water softening to remove temporary hardness.

Chemical Areacts with sodium carbonate to generate caustic soda. When

 is bubbled through a solution A, it turns cloudy. What is the

chemical formula of A?

A. CaO

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

Ca(OH)2

CaCO3

Ca(HCO3)2

https://dl.doubtnut.com/l/_2yCMn2uY7D0G
https://dl.doubtnut.com/l/_6HOoUDYx5NPY


11. In which of the following rections  is not an oxidising agent?

A. (i) (ii)

B. (iii) (iv)

C. (i) (iii)

D. (ii) (iv)

Answer: D

Watch Video Solution

H2O2

12. Find the percentage strength of  in a sample marked “10

volumes.”

A. 0.03

B. 

C. 

D. 

H2O2

0.5 %

0.1 %

0.15 %

https://dl.doubtnut.com/l/_QfgimpS5pDmT
https://dl.doubtnut.com/l/_Mss7Umrq3wIx


Answer: A

Watch Video Solution

13. Hydrogen molecule differs from chlorine molecule in the following

respect:

A. Hydrogen moleculeis non-polar but chlorine molecule is polar

B. Hydrogen molecule is polar while chlorine molecule is non-polar

C. Hydrogen molecule can form intermolecular hydrogen bonds but

chlorine molecule does not

D. Hydrogen molecule cannot participate in coordination bond

formation but chlorine molecule can

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Mss7Umrq3wIx
https://dl.doubtnut.com/l/_rFFTtwhkU0VW
https://dl.doubtnut.com/l/_P7BzyODn2KQN


14. High dipole moment of water justifies that

A. it is not linear molecule

B. it is a universal solvent

C. it has higher densitythan ice

D. it is neutral toward litmus

Answer: A

Watch Video Solution

15. Which of the following is correct about heavy water?

A. Water at C having maximum density is known as heavy water

B. It is heavier than water

C. It is formed by the combination of heavier isotope of hydrogen and

oxygen

D. Both B and C

4∘

https://dl.doubtnut.com/l/_P7BzyODn2KQN
https://dl.doubtnut.com/l/_CqGTosN5crE2


Answer: D

Watch Video Solution

16. The atom of oxygen lost by  molecule during oxidation reaction

is that which is linked through

A. an electrovalent bond

B. a covalent bond

C. a coordinate bond

D. a hydrogen bond

Answer: B

Watch Video Solution

H2O2

17. In which of the following reactions does dihydrogen act as an

oxidising agent?

https://dl.doubtnut.com/l/_CqGTosN5crE2
https://dl.doubtnut.com/l/_lQGTsRolGvxY
https://dl.doubtnut.com/l/_nGQwSuuvZiL4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ca + H2 → CaH2

2H2 + O2 → 2H2O

H2 + F2 → 2HF

CuO + H2 → Cu + H2O

18. The melting points of most of the solid substances increase with an

increase of pressure acting on them. However, ice melts at a temperature

lower than its usual melting point when the pressure is increased. This is

because:

A. ice is less dense than water

B. it generates heat

C. chemical bonds break under pressure

D. none

https://dl.doubtnut.com/l/_nGQwSuuvZiL4
https://dl.doubtnut.com/l/_7nVLqmhg8y4z


Answer: A

Watch Video Solution

19. When 50%solution of  is electrolysed by passing a current of

high density at low temperature the main products of electrolysis are:

A. oxygen and hydrogen

B. , and peroxo disulphuric acid

C. , and 

D. , and peroxy disulphuric acid

Answer: B

Watch Video Solution

H2SO4

H2

H2 SO2

O2

20. of  oxidises , in acidic medium.

Volume of the same  required in alkaline medium to oxidise 100

100mL 0.01MKMnO4 100mLH2O

KMnO4

https://dl.doubtnut.com/l/_7nVLqmhg8y4z
https://dl.doubtnut.com/l/_m0PR6Nmd71mg
https://dl.doubtnut.com/l/_ubYW0r5olzXS


mL of the same  will be (  changes to  in acidic

medium and to  in alkaline medium)

A. mL

B. mL

C.  mL

D.  mL

Answer: B

Watch Video Solution

H2O2 MnO
−
4 Mn2 +

MnO2

100

3

500

3

300

5

100

5

21. 10mL of  solution (volume strength=x) requires-10 mL of 

 solution in acidic medium. Hence x is

A. 

B. 

C. 

H2O2

N /0.56MnO
−
4

0.56

5.6

0.1

https://dl.doubtnut.com/l/_ubYW0r5olzXS
https://dl.doubtnut.com/l/_P6D1z2EbI22C


D. 10

Answer: D

Watch Video Solution

22. 10L of hard water required 0.56 goflime (CaO) for removing hardness.

Hence, temporary hardness in ppm (part per million, 10%) of  is

A. 100

B. 200

C. 10

D. 20

Answer: A

Watch Video Solution

CaCO3

https://dl.doubtnut.com/l/_P6D1z2EbI22C
https://dl.doubtnut.com/l/_CIrv7EJW3F6n


23. Match List- I with List-II and select the correct answer using the codes

given below in the lists: 

A. I-C,2-D, 3-B, 4-A

B. I-B,2-A, 3-C, 4-D

C. I-B,2-D, 3-C, 4-A

D. I-A,2-A, 3-B, 4-D

Answer: D

Watch Video Solution

List I List II

1. Heavy water A. Bicarbonates of Mg and Ca in water 

2. Temporary hard water B. No foreign ions in water

3. Soft water C. D2O

4. Permanent hard water D.  Sulphates and chlorides of Mg and Ca in wa

24. Consider  and :

A. all are ionic hydrides

LiH, MgH2 CuH

https://dl.doubtnut.com/l/_A95kJyamfzw4
https://dl.doubtnut.com/l/_RtKQrXHHMJda


B. LiH ,  are ionic whereas CuH is

C. LiH  are ionic whereas CuH is metallic

D. LiH is is ionic  is covalent and and CuH is metallic

Answer: D

Watch Video Solution

MgH2

MgH2

MgH2

25. Which statements is/are correct?

A. Boiling point of  are maximum in their respective

group due to intermolecular H-bonding

B. Boiling point of , out of , ,, , and 

C. Formic acid forns dimer by H-bonding

D. All the above are correct statements

Answer: D

Watch Video Solution

H2, O, NH3, , HF

CH4 CH4 SiH4 GeH4 SnH4

https://dl.doubtnut.com/l/_RtKQrXHHMJda
https://dl.doubtnut.com/l/_vYB4sGPyZR5d


26. Hydrogen

A. is placed in 1 since it foms monovalent cation 

B. is placed in halogen family since it forms monovalent anion 

C. is placed in carbon family since both have a halffilled shell of

electrons

D. follows all of the above facts

Answer: D

Watch Video Solution

H +

H −

27. Bond angles  and in water and hydrogen

peroxide repectively are

A.  in both

B.  in both

H– O– H H − O − O −

104.5∘

94.8∘

https://dl.doubtnut.com/l/_vYB4sGPyZR5d
https://dl.doubtnut.com/l/_aHPdgD8kFWHB
https://dl.doubtnut.com/l/_DqtAO3zPV1yA


C. 

D. and 

Answer: C

Watch Video Solution

104.5∘ , 94.8∘

94.8∘ 104.5∘

28. Nascent hydrogen is formed in... 

 


 

A. I,II

B. II, III

C. I, II, III, IV

D. IV

Answer: A

Watch Video Solution

I :Zn + dil. HCl    II. :CH3OH + Na

III : Electrolysis of H2O IV . : Silent electric discharge of H2O2

https://dl.doubtnut.com/l/_DqtAO3zPV1yA
https://dl.doubtnut.com/l/_H3kEJ0FsbpNf


29. Oụt of the following metals which will give  on reaction with 




A. I,II, III, IV

B. I, III, IV

C. II, IV

D. I, III

Answer: B

Watch Video Solution

H2

NaOH

I :Zn   II :Mg   III :AI   IV :Be

30. Under what conditions of temperature and pressure the formation of

atomic hydrogen from molecular hydrogen will be favoured most?

A. high temperature and high pressure

https://dl.doubtnut.com/l/_H3kEJ0FsbpNf
https://dl.doubtnut.com/l/_EN1cE1FNkspY
https://dl.doubtnut.com/l/_IyhaDpNvN5MA


B. low temperature and low pressure

C. high temperature and low pressure

D. low temperature and high pressure

Answer: C

Watch Video Solution

31. , can also be obtained by the partial oxidation of 2-propanol 


. Intermediate

in this reaction is

A. 

B. 

C. 

D. None of these

Answer: C

H2, O2

(CH3)2CHOH + O2

littleH2O2 +O2

−−−−−−−−−−−→
presure

(CH3)2CO + H2O2

(CH3)3C
+

https://dl.doubtnut.com/l/_IyhaDpNvN5MA
https://dl.doubtnut.com/l/_armG059Jh0d0


View Text Solution

32. Consider following statements : 

 


Select correct statements based on these reactions.

A.  is a Lewis acid in I and Lewis base in II

B.  is a Lewis base in I and Bronsted base in II

C.  is a Lewis acid in I and Bronsted acid in II

D.  is a Lewis base in I and II

Answer: B

Watch Video Solution

I :AIH3 + H − → AlH
−

4     II :H2O + H − → H2 + OH −

H −

H −

H +

H −

33. The hydride ion  is a stronger base than hydroxide ion, which of

the following reactions will occur sodium hydride (NaH) is dissolved in

water?

H −

https://dl.doubtnut.com/l/_armG059Jh0d0
https://dl.doubtnut.com/l/_lIVv7B5sM04a
https://dl.doubtnut.com/l/_o8Z5JR25jb7M


A. 

B. 

C. Noreaction

D. None of these

Answer: B

Watch Video Solution

2H + (aq) → H2 + 2e−

H − (aq) + H2O(I) → OH − + H2

H − + H2O(I) →

34. The correct decreasing order of basic strength is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

AsH3, > SbH3, > PH3, > NH3

SbH3 > AsH3 > PH3 > NH3

NH3 > PH3 > AsH3 > SbH3

PH3 > AsH3 > SbH3 > NH3

https://dl.doubtnut.com/l/_o8Z5JR25jb7M
https://dl.doubtnut.com/l/_yoG9zkxLDDrJ


35. Zinc gives  but not with conc.

HNO_3, because:

A. Zn acts as an oxidising agent when reacts with 

B.  is weaker acid than , and HCI

C. in electrochemical series Zn is above hydrogen

D. , is reduced in preference to hydronium ion

Answer: D

Watch Video Solution

H2   gas with H2SO4, and conc. HCl

HNO3

HNO3, H2, SO4

NO−
3

36. Mass of one atom is . Its percentage in a hydride is

95.24. Thus, hydride is

A. MH

B. 

6.66 × 10− 23g

MH2

https://dl.doubtnut.com/l/_yoG9zkxLDDrJ
https://dl.doubtnut.com/l/_Xi3uIjtW18ER
https://dl.doubtnut.com/l/_DSqMaAGttO3E


C. 

D. 

Answer: B

Watch Video Solution

MH3

MH4

37. Select incorrect statement.

A. Ortho and para hydrogen are different due to difference in their

nuclear spins

B. Orths and para hydrogen are different due to difference in their

electron spins

C. Parahydrogen has a lower internal energy than that of ortho

hydrogen

D. Para hydrogen is more stable at lower temperature

Answer: B

https://dl.doubtnut.com/l/_DSqMaAGttO3E
https://dl.doubtnut.com/l/_fPEe5NLqJ9hN


Watch Video Solution

38. Select correct statement(s).

A. , reduces , to  in acidic medium

B. , reduces  to MnO, in basic medium

C. , can be used to bleach blackened oil paintings

D. All the above are correct statement

Answer: D

Watch Video Solution

H2, O2 MnO
−
4 Mn2 +

H2, O2 MnO2

H2, O2

39. 10 mL of , solution on treatment with KI and titration of

liberated , required 10 mL of 1 N hypo. Thus  is

A. 1 N

B. 5.6 volume

H2O2

I2 H2O2

https://dl.doubtnut.com/l/_fPEe5NLqJ9hN
https://dl.doubtnut.com/l/_eMFik5pQwMpu
https://dl.doubtnut.com/l/_giYMmD66fVag


C. 

D. all are correct

Answer: D

Watch Video Solution

17gL− 1

40. An inorganic substance liberates oxygen on heating and turns an

acidic solution of KI brown and reduces acidified  solution. The

substance is:

A. HgO

B. 

C. 

D. 

Answer: B

Watch Video Solution

KMnO4

H2O2

KNO3

Pb(NO3)2

https://dl.doubtnut.com/l/_giYMmD66fVag
https://dl.doubtnut.com/l/_4FCk1EnVmeDD


41. In which of the following reactions does hydrogen act as an oxidising

agent?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2 + Fe →

H2SiCI4 →

Na + H2 →

CuO + H2 →

42. When  is added to ice cold solution of acidified potassium

dichromate in ether and the contents are shaken and allowed to stand :

A. a blue colour is obtained in ether due to formation of 

B. a blue colour is obtained in ether due to formation of 

H2O2

Cr2, (SO4)3

CrO5

https://dl.doubtnut.com/l/_4FCk1EnVmeDD
https://dl.doubtnut.com/l/_kvmt1OAbT0BT
https://dl.doubtnut.com/l/_2rzbtn4OLbOu


C. a blue colour is obtained in ether due to formation of 

D. chromyl chloride is formed

Answer: B

Watch Video Solution

CrO3

43. 2g of aluminium is treated separately with excess of dil.  and

excess of NaOH, the ratio of volume of hydrogen evolved is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4

2: 3

1: 1

2: 1

1: 2

https://dl.doubtnut.com/l/_2rzbtn4OLbOu
https://dl.doubtnut.com/l/_lzBrITGun8Vs
https://dl.doubtnut.com/l/_ZScVYZfpOKRz


44. In which reaction, hydrogen peroxide neither acts as an oxidising

agent nor as a reducing agent?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PbS + H2O2 →

SO−
3 + H2O2 →

PbO2 + H2O2 →

Na2CO3 + H2O2 →

45. Which one of the following reactions does not form gaseous product?

A. 

B. 

C. 

D. 

PbO2 + H2O2 →

PbS + H2O2 →

CI2 + H2O2 →

Na2CO3 + H2O2 →

https://dl.doubtnut.com/l/_ZScVYZfpOKRz
https://dl.doubtnut.com/l/_enx80S9BPaD4


Level Iii Single Correct Answer Type

Answer: B

Watch Video Solution

1. Which of the following statements regarding water is not correct?

A. Water acts as an acid in the presence of a base stronger than itself

B. Water acts as a base in the presence of an acid stronger than itself

C. Water is reduced to dihydrogen by metals having standard

reduction potential less than-0.41 V

D. Water is energetically less stable than hydrogen and oxygen taken

separately

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_enx80S9BPaD4
https://dl.doubtnut.com/l/_gRhJb2MStWSY


2. Which of the following is/are the preparation or manufacture of  


1) Mercks's process  2) Thenard's process 


3) Electrolysis of 50% of  Auto-oxidation of 2-alkyl

anthraquinol 

5) Oxidation of isopropyl alcohol

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O2

      

H2SO4      4) 

2Fe(CN)4 −
6 + 2H + + H2O2 → 2Fe(CN)3 −

6 + 2H2O

O3 + H2O2 → 2O2 + H2O

Mn2 + + H2O2 → Mn4 + + 2OH −

PbS + 4H2O2 → PbSO4 + 4H2O

3. Consider the reaction 

(i)  (ii) H2O2 + O3 → 2H2O + 2O2 PbS + 4O3 → PbSO4 + 4O2

https://dl.doubtnut.com/l/_6EYyLrjuxvDU
https://dl.doubtnut.com/l/_iXddy6Qj09LW


A. , is reduced both in (i) and (ii)

B. , is oxidized both in (i) and (ii)

C.  is oxidized in (i) and reduced in (ii)

D. , is reduced in (1) and oxidized in (ii)

Answer: A

Watch Video Solution

O3

O3

O3

O3

4. 100 mL of ozone at STP was passed through 100 mL of 10 volume 

, solution. What is the volume strength of , after the reaction?

A. 

B. 

C. 

D. 

Answer: A

H2O2

H2O2

9.5

9.0

4.75

4.5

https://dl.doubtnut.com/l/_iXddy6Qj09LW
https://dl.doubtnut.com/l/_uqgN67GSceyj


Watch Video Solution

5. Consider the following statements: 

I. Atomic hydrogen is obtained by passing hydrogen through an electric

arc. 

II. Hydrogen gas will not reduce heated aluminium oxide. 

III. Finely divided palladium absorbs large volume of hydrogen gas 

IV. Pure nascent hydrogen is best obtained by reacting Na with

. 


Which of the above statements is/are correct?

A. I alone

B. II alone

C. I, II and III

D. II, III and IV

Answer: C

Watch Video Solution

C2, H5, OH

https://dl.doubtnut.com/l/_uqgN67GSceyj
https://dl.doubtnut.com/l/_9cX4B8meZsA6


Level Iii Multiple Correct Answer Type

1. Which of the following statements are correct in the case of heavy

water?

A. Heavy water is used as a moderator in nuclear reactor

B. Heavy water is used as a tracer for studying reaction mechanisms

C. Heavy water has lower boiling point than ordinary water

D. Enthalpy of vaporisation of heavy water is more than that of

ordinary water

Answer: A::B::D

Watch Video Solution

2. In which of the following compounds does hydrogen exhibit a negative

oxidation state:

https://dl.doubtnut.com/l/_9cX4B8meZsA6
https://dl.doubtnut.com/l/_KB4an49lbd7F
https://dl.doubtnut.com/l/_l0rCPx9RDEos


A. HCI

B. NaH

C. 

D. HI

Answer: B::C

Watch Video Solution

CaH2

3. An oxide which give  on treatment with dilute acid is

A. 

B. 

C. 

D. 

Answer: C::D

Watch Video Solution

H2O2

PbO2

MnO2

Na2O2

BaO2

https://dl.doubtnut.com/l/_l0rCPx9RDEos
https://dl.doubtnut.com/l/_lEmZDzU3TznC


4. Which is not true about saline hydrides

A. They are binary compounds of hydrogen and metallic elements

B. They are crystalline solids

C. They are generally very soft

D. Their common examples are, , etc.

Answer: A::B

Watch Video Solution

SiH4, CH4

5. Which of the following statements are correct

A. , reduces , both in acidic and basic media

B. , oxidises  ions both in acidic and basic media

C. , oxidises  to  ions in basic medium

H2, O2 MnO
−
4

H2, O2 Fe2 +

H2, O2 Mn2 + Mn4 +

https://dl.doubtnut.com/l/_lEmZDzU3TznC
https://dl.doubtnut.com/l/_IIb3CJt8N5Ej
https://dl.doubtnut.com/l/_PMDJPpui0EXS


D.  liberates I, from acidified Kl solution and reduces , to '

ions in basic medium

Answer: A::B::C::D

Watch Video Solution

H2, O2 I2 l−

6. Hydrogen bonding plays a central role in the following phenomena.

A. Ice floats in water.

B. Higher Lewis basicity of primary amines than tertiary amines in

aqueous solutions

C. Formic acid is more acidic than acetic acid.

D. Dimerization of acetic acid in benzene.

Answer: A::B::D

Watch Video Solution

https://dl.doubtnut.com/l/_PMDJPpui0EXS
https://dl.doubtnut.com/l/_Tm1pJvWLgG9d
https://dl.doubtnut.com/l/_wrbJQrADZxzr


7. Which of the following processes can be used for preparation of ,

gas

A. Dissolving LiH in water.

B. Reaction of Al with NaOH solution.

C. Reaction of Zn with dilute 

D. Electrolysis of  in the presence of KOH.

Answer: A::B::C::D

Watch Video Solution

H2

H2SO4

H2O

8. Which of the following elements form metallic hydrides?

A. Cu

B. Pd

C. Li

D. Sc

https://dl.doubtnut.com/l/_wrbJQrADZxzr
https://dl.doubtnut.com/l/_OspLqIVFsggf


Answer: A::B::D

Watch Video Solution

9. Which of the properties of water given below is/are false?Water is a

universal solvent."
Hydrogen bonding is present to a large extent in liquid

water.
There is no hydrogen bonding in the frozen state of water.
 Frozen

water is heavier than liquid water.

A. Water is a universal solvent."

B. Hydrogen bonding is present to a large extent in liquid water.

C. There is no hydrogen bonding in the frozen state of water.

D. Frozen water is heavier than liquid water.

Answer: C::D

Watch Video Solution

https://dl.doubtnut.com/l/_OspLqIVFsggf
https://dl.doubtnut.com/l/_JDvDYAZ4d91R


10. Temporary hardness of water can be removed by which of the

following processes?

A. Lime-soda process

B. Boiling

C. Clark's process

D. Ion exchange method

Answer: A::B::C

Watch Video Solution

11. Pick out the correct statement(s).

A. Natural hard water is toxic in nature

B. Natural hard water does not produce lather with soap

C. Water containing some potash alum is hard water

D. Water obtained by zeolite process is not pure water

https://dl.doubtnut.com/l/_KMt5LP8hF4nH
https://dl.doubtnut.com/l/_FiTAWccIXIni


Answer: B::C::D

Watch Video Solution

12. When zeolite, which is hydrated sodium aluminium silicate, is treated

with hard water, the sodium ions are exchanged with H
+
ions
C
a
2
+
ions

S
2
−
4
ions
M
g
2
+
ions

A.  ions

B.  ions

C.  ions

D.  ions

Answer: B::D

Watch Video Solution

H +

Ca2 +

S
2 −
4

Mg2 +

https://dl.doubtnut.com/l/_FiTAWccIXIni
https://dl.doubtnut.com/l/_V8yIeFpRfjhx


13. Which of the following properties of hydrogen are similar to those of

halogens ?

A. Formation of  like 

B. Formation of  like 

C. Formation of  like 

D. None of these

Answer: B::C

Watch Video Solution

H + X +

H − X −

H2 X2

14. Which of the following statements are incorrect for ,?

A. Pure  , is fairly stable

B. It sometimes acts as a reducing agent

C. It acts as an oxidizing agent

D. Aqueous solution of , is weakly basic

H2O2

H2O2

H2O2

https://dl.doubtnut.com/l/_IqvpzR2D21Li
https://dl.doubtnut.com/l/_o9c9diZwziDL


Level Iii Numerical Type

Answer: A::B::C

Watch Video Solution

15. Which of the following statements is correct regarding the conversion

of metal into metallic hydride?

A. The density of metallic hydride is less than that of parent metal.

B. The crystal lattice expands through the inclusion of hydride.

C. A solid piece of a metal tums into powdered hydride

D. None of these

Answer: A::B::C

Watch Video Solution

https://dl.doubtnut.com/l/_o9c9diZwziDL
https://dl.doubtnut.com/l/_RAJ13WBd3w87


1. Commercial sample of , is labelled as 10 V. Its % strength is nearly

Watch Video Solution

H2O2

2. The number of electron-rich hydrides among the following is ......... 

Watch Video Solution

CH4, NH3, PH3, H2O, H2S, BH3, , HF , AlH3, AsH,3

3. The mass number of the element obtained when tritium undergoes -

decay is.........

Watch Video Solution

β

4. Maximum number of hydrogen bonding in ,O is.........

Watch Video Solution

H2

https://dl.doubtnut.com/l/_3Bpniz5C1rxB
https://dl.doubtnut.com/l/_FX6JEoYtV90W
https://dl.doubtnut.com/l/_rq7ZJwztm0qI
https://dl.doubtnut.com/l/_9DlWP28W3h3s
https://dl.doubtnut.com/l/_OXqyyo8VRQbn


5. The sum of protons, electrons and neutrons in the heaviest isotope of

hydrogen is

Watch Video Solution

6. The number of protons that can be accepted by hydrazine is ..

Watch Video Solution

7. A bottle of , is labelled as 10 vol . 112 mL of this solution of 

, is titrated against 0.04 M acidified solution of , Calculate

the volume of , in terms of litre.

Watch Video Solution

H2O2 H2O2

H2O2 KMnO4

KMnO4

8. Washing soda  is widely used in softening of hard

water. If 1 L of hard water requires 0.0143 g of washing soda, what is

(Na2CO3.10H2, O)

https://dl.doubtnut.com/l/_OXqyyo8VRQbn
https://dl.doubtnut.com/l/_U0E2A42aY5Fd
https://dl.doubtnut.com/l/_2FdlzpWyKaa2
https://dl.doubtnut.com/l/_WzqJnSJCsRYO


Level Iii Matching Column Type

hardness of water in terms of ppm of ,?

Watch Video Solution

CaCO3

9. How many moles of phosphine are produced when one mole of calcium

phosphide reacts with water?

Watch Video Solution

10. What is the molarity of a commercial sample of 33.6 volume hydrogen

peroxide solution?

Watch Video Solution

https://dl.doubtnut.com/l/_WzqJnSJCsRYO
https://dl.doubtnut.com/l/_mZYqcwklXSmv
https://dl.doubtnut.com/l/_AGpgp0hW3jWw


1. 

Watch Video Solution

Column I Column II

A. Nascent hydrogen p. Permutit

B  Hard water q. Used as tracer in the study of reaction mechanis

C  Hydrogen peroxide r. ReducesFeCl3toFeCI2

DHeavy water s. ReducesCr2O
2 −
7

 toCr3 +

2. 

Watch Video Solution

Column I Column II

A. NaBH4 p. Complex hydride

B. LiBH4 q. Alanate

C. BeH2 r.  Ionic hydride

D. LiH s.  Covalent hydride

3. Match the column 1 with column 2

W t h Vid S l ti

Column I Column II

A.  Sodium ion in zeolite gets exchanged with p. Ca2 +

B.  Hardness q. Mg2 +

C.  Temporary hardness r. Ca(HCO3)
2

D. Permanent hardness s. MgSO4

https://dl.doubtnut.com/l/_2YBReJnv78pJ
https://dl.doubtnut.com/l/_OCfT8KW03xk6
https://dl.doubtnut.com/l/_xPBtrOm6TRmG


Level Iii Statement Type

Watch Video Solution

4. Match the metal hydrides with their properties. 

View Text Solution

5. Match the compounds with type of hydrogen bond. 

View Text Solution

6. Match the order of compounds with the property 

View Text Solution

https://dl.doubtnut.com/l/_xPBtrOm6TRmG
https://dl.doubtnut.com/l/_MfAmeKOvvz90
https://dl.doubtnut.com/l/_TvnDRqdZAV1b
https://dl.doubtnut.com/l/_HsYuqrzeK58i


1. Assertion : Permanent hardness of water is removed by treatment with

washing soda. 

Reason : Washing soda reacts with soluble magnesium and calcium

sulphate to form insoluble carbonates.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TBhpwzcV712S


2. Assertion : The colour of old lead paintings can be restored by washing

with a dilute solution of . 


Reason : Hydrogen peroxide oxidises black lead sulphide to white lead

sulphate.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_JRwX2wkSciRm


3. Assertion : The water gas shift reaction can be used to increase the

amount  in the syngas mixture. 


Reason : In this reaction,  reduces steam to .

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

H2

CO H2

4. Assertion :  is the only hydride of group 16 which is a liquid at

ordinary temperature. 

H2O

https://dl.doubtnut.com/l/_dQ9OccRKBWVu
https://dl.doubtnut.com/l/_eX6YxTq402XC


Reason : In ice, each oxygen atom is surrounded by two covalent bonds

and two hydrogen bonds.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: B

Watch Video Solution

5. Assertion : On adding zinc pieces to aqueous  solution, colour

changes from deep yellow to light green. 

Reason : Aqueous  is acidic and on adding zinc, nascent hydrogen

FeCl3

FeCl3

https://dl.doubtnut.com/l/_eX6YxTq402XC
https://dl.doubtnut.com/l/_4guxQkzByb04


is produced which reduces deep yellow  solution to light green 

 solution.

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

FeCl3

FeCl2

6. Assertion : Melting and boiling points of  are higher than those of

ordinary . 


Reason :  has lesser degree of association and lower molecular mass

than .

D2O

H2O

D2O

H2O

https://dl.doubtnut.com/l/_4guxQkzByb04
https://dl.doubtnut.com/l/_RgJHS35nMIY6


Level Iii Linked Comprehension Type

A. Statement 1 is True, statement 2 is True, Statement 2 is Correct

explanation for Statement 1.

B. Statement 1 is True, Statement 2 is True, Statement 2 is NOT a

correct explanation for Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: C

Watch Video Solution

1. The volume of 10 volume , solution that decolourises 200 ml of 

, solution in acidic medium is:

A. 112 mL

B. 336 ml

H2O2

2NKMnO4

https://dl.doubtnut.com/l/_RgJHS35nMIY6
https://dl.doubtnut.com/l/_dycPQj7tLtnX


C. 200 ml

D. 224 ml

Answer: D

Watch Video Solution

2. 100 volume hydrogen peroxide solution means

A. 17.86 N

B. 30.36% 

C. 8.93 M

D. all are correct

Answer: D

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_dycPQj7tLtnX
https://dl.doubtnut.com/l/_OhpF2LaqwP11


3. , acts as an oxidising as well as a reducing agent both in acidic

and basic media. 

Which of the following substances on treatment with , gives .

A. acidified 

B. alkaline 

C. alkaline 

D. both (B) and (C )

Answer: D

Watch Video Solution

H2O2

H2O2 MnO2

KMnO4

KMnO4

MnSO4

4. Hydrogen has three isotopes, protium, , deuterium, or Dand

tritium,  or T, which differ from one another in the number of

neutrons. Naturally occuring hydrogen contains 99.986% of the 

isotope, 0.014% of  and of ,so, the properties of

hydrogen are essentially those of the lightest isotope. Protium is by far

1
1H

2
1H

3
1H

1
1H

2
1H 7 × 10− 16 % 3

1H

https://dl.doubtnut.com/l/_RaAVVmbfqlKI
https://dl.doubtnut.com/l/_tm08VDhlf0dZ


the most abundant and tritium is radioactive and decays by Bemission.

Their only difference in chemical properties are the rates of reactions and

equilibrium constants. 

Which of the following pairs shows maximum isotope effect?

A.  and 

B.  and 

C. and 

D. None of these

Answer: A

Watch Video Solution

1
1H

2
1D

35
17CI

37
17CI

12
6 C 14

6 C

5. Hydrogen has three isotopes, protium, , deuterium, or Dand

tritium,  or T, which differ from one another in the number of

neutrons. Naturally occuring hydrogen contains 99.986% of the 

isotope, 0.014% of  and of ,so, the properties of

hydrogen are essentially those of the lightest isotope. Protium is by far

1
1H

2
1H

3
1H

1
1H

2
1H 7 × 10− 16 % 3

1H

https://dl.doubtnut.com/l/_tm08VDhlf0dZ
https://dl.doubtnut.com/l/_lnoSe1ml1QdW


the most abundant and tritium is radioactive and decays by Bemission.

Their only difference in chemical properties are the rates of reactions and

equilibrium constants. 

Which of the following properties has incorrect order?

A.  Boiling point order

B. : Freezing point order

C. : Latent heat of vapourization

D. : Equilibrium constant for dissociation

Answer: D

Watch Video Solution

H2, < D2, < T2 :

H2, < D2, < T2

H2, < D2, < T2

T2O > H2O, > D2O

6. Hydrogen has three isotopes, protium, , deuterium, or Dand

tritium,  or T, which differ from one another in the number of

neutrons. Naturally occuring hydrogen contains 99.986% of the 

isotope, 0.014% of  and of ,so, the properties of

hydrogen are essentially those of the lightest isotope. Protium is by far

1
1H

2
1H

3
1H

1
1H

2
1H 7 × 10− 16 % 3

1H

https://dl.doubtnut.com/l/_lnoSe1ml1QdW
https://dl.doubtnut.com/l/_jyDx77OJIVxQ


the most abundant and tritium is radioactive and decays by Bemission.

Their only difference in chemical properties are the rates of reactions and

equilibrium constants. 

The properties of hydrogen are essentially those of

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

3
1H

2
1H

1
1H

7. "Research scholar A added zinc pieces into aqueous , solution

and performed some experiments with resultant solution." "Research

scholar B passed  gas into aqueous  , solution and performed

some experiments with resultant solution." 

FeCl3

H2 FeCl3

https://dl.doubtnut.com/l/_jyDx77OJIVxQ
https://dl.doubtnut.com/l/_ka2nN55cqLAj


Yellow coloured  , solution changed to light green (appeared as

colourless) in the experiment of

A. A

B. B

C. both of these

D. none of these

Answer: A

Watch Video Solution

FeCl3

8. Research scholar A added zinc pieces into aqueous , solution and

performed some experiments with resultant solution. "Research scholar B

passed  gas into aqueous  , solution and performed some

experiments with resultant solution." 

Select correct statements

FeCl3

H2S FeCl3
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A. Zn pieces liberate nascent hydrogen on reaction with acidic

solution of ,

B. , solution is reduced to , in the experiments of A and B

both

C. Blue colour complex is formed in both the experiments on reaction

with 

D. A deep blue colour is formed on reaction with KCNS in experiment B

Answer: A

Watch Video Solution

FeCl3

FeCl3 FeCl2

K4[Fe(CN)6)
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